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Question Number : 1 Question Id : 630680805036 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Who among the following is elected as the new Chief Minister of Solomon Islands in May 2024?
Options :

1. ¢ Jeremiah Manele

2. # Ishmael Mali Avui

3. # Nestor Giro

4. % Jackson Fiulaua

Question Number : 1 Question Id : 630680805036 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 38 T 2024 FPODS BYO FB 30D 0BT Q) BT ed0?
Options :

1. ¢ BOOST HIS

2. % Q00O X6 @s3rom

3. % 306 A8

4. % 225 31Q HAWErD®

Question Number : 2 Question Id : 630680805037 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In April 2024, which of these countries unveiled new ‘kamikaze’ drone similar to Russian Lancet?
Options :

1. # Iraq

2.+ Iran

3. % Dubai

4. ® Turkey



Question Number : 2 Question Id : 630680805037 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

JDS 202465, EHS XTI SrOOTR &S ‘TS 1B De3S’ e 80DS BFo JE?
Options :

1. ¥ 0°§

2. ¥ Q0°Q

3. % oeraw

4. % &8

Question Number : 3 Question Id : 630680805038 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In April 2024, which of these countries became the first in world to introduce new 5-in-1 vaccine against meningitis?
Options :

1. % Nigeria

2. % Kenya

3. % Algeria

4. % Sudan

Question Number : 3 Question Id : 630680805038 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

ADS 20246, DAOBED AFBEOM T8 5-95-1 35875 (HDONOS DIDBDOMT (DSF 2 TForr & BFS AODIB D&?
Options :

1. ¢ J2580%

2. % 30

3. % @9@60&?

4. % @@

Question Number : 4 Question Id : 630680805040 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In March 2024, China outpaced India in importing Russian crude by sea, receiving barrels per day (bpd) compared to India's 1.36 million.
Options :

1. % 1.52 million

2. % 1.62 million

3. % 1.72 million

4. 1.82 million

Question Number : 4 Question Id : 630680805040 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

538 202465, HANICI0 T ST° BT830 T30 BN B0 T erES$TT) BHDONOE, 2SS0 B0y 1.36
OHRAS PO Fardo 2°$8S ) (bpd) SPOCNSOA.

Options :

1. % 1.52 000D

2. % 1,62 OO

3.% 1.72 00008

4.9 1.82 0OHS

Question Number : 5 Question Id : 630680805042 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In March 2024, which of the following unveiled BhashaNet portal at Universal Acceptance (UA) Day on 21st March 2024 for Digital Inclusion across the
nation?

Options :

1. # Council of Scientific & Industrial Research (CSIR) and Ministry of Electronics and Information Technology (MeitY)

2. % NITI Aayog and Ministry of Electronics and Information Technology (MeitY)

3. ¢ National Internet Exchange of India (NIXI) and Ministry of Electronics and Information Technology (MeitY)

4. % National Internet Exchange of India (NIXI) and Council of Scientific & Industrial Research (CSIR)

Question Number : 5 Question Id : 630680805042 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

S8 202465, BEs00M GBS N0 EH0 21 578 202405 OOTASEIS ASFBI NS (UA) OS¢ 350 HOSS )0 araraed FES
SDALB0DV0A AE?



Options :

1% TS e DOEDE & ROG[NOHS E5 ) (CSIR) 0B8N DD B JO|FTAE.) @0& 2S)BIAS By 028 (MeitY)
2. % D& &333°N HOAM DOTTY 0O VI)TIAS Bo5™) 28 $d0(8deh § 3o (MeitY)

3. ¢ TASS 0B 87025 @D ORI (NIXT) 8050 AR &5 e FAE)) @0& 2IDINS BS*) 028 (MeitY)
4. % THIS R06BLE I3))05 @5 Q0GA® (NIXI) HOAN THS &35 D0E3DE & R0GB(ROHS 885 (CSIR)

Question Number : 6 Question Id : 630680805043 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In March 2024, in which of these cities, India's fastest and indigenously designed IP/MPLS (Multiprotocol Label Switching) router was launched by Ashwini
Vaishnaw, Union Minister for Communications, Electronics and Information Technology?

Options :

1. % Hyderabad
2. % Chennai
3. % New Delhi
4. % Bengaluru

Question Number : 6 Question Id : 630680805043 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

$°8.) 202465°, DEZSTA O SHEOE’, 2rESTI0 TINE), @550 SHS0STS DO D STFOM EFFoB0EGS IPMPLS (0P s S
B2nS 5D0R) T30 Zo(& s BASEN, dOIFTS,) OO0 QITIAS TS @28 $H0(& @3 I (E0D0TE?

Options :

1. % 30828

2.% 33

3% Sy B

4. ¥ BOHETH

Question Number : 7 Question Id : 630680805044 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
This question consist of two statements — Assertion (A) and Reason (R). Answer the question selecting the appropriate option given below:

Assertion (A): The department of science & technology and Telangana govt have partnered with T-Hub to establish MATH, an Al and ML hub.
Reason (R): MATH aims to support educational organizations and modernize higher education system.

Options :

1. % Both A and R are true, and R is the correct explanation of A.

2. % Both A and R are true, but R is not the correct explanation of A.
3.9 Ais true, but R is false.

4. % Both A and R are false.

Question Number : 7 Question Id : 630680805044 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
& (0%, DB)eh E50 (A) SDBO50 B0 (R) R BOCK [SEEISEN EOLTON. BN B9 2B DS Deh JONED JOTHH (%)%
DTGP0 S S0&:

Q)b E50(A): MATH(ODESTTS), Al(50) 08050 ML(DODS) 5725 Q) 0@ 8 DS & Bsm) 328 DKo OO S0
(9525368 SO ¢3-33°25 (T-Hub)&¥ 235375, $OR &) 0.

55690 (R): MATH(OESTTS) DTs HOREED 0G0 9655680 0B8N €5¢3),65 DTS 235900 e8¢0EB0I0 & SOIT EPH0A.
Options :

1. % A O R BOT 230 08050 R 9JIE A G30EY DT DdBea.

2. % A 8050 R O D220, SR R 93 A BBnE) DB DedSea 5°¢.

3. ¥ A3 20, SO R 09I ).

4. % A SO0 R 9T BOKT ).

Question Number : 8 Question Id : 630680805045 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In this question, a statement is given followed by two conclusions. Choose the correct response from the given four options:

Statement:

Supreme Court Justice Aniruddha Bose joined as new Director of National Judicial Academy post-retirement on 13th April 2024.
Conclusion:

i) The Ex. Director Mr. Justice Sujoy Paul left the office on 12th April 2024.

ii) Mr. Justice Sujoy Paul joined National Judicial Academy as Director in 2023.

Options :

1. % Only conclusion (i) is correct.

2. % Only conclusion (ii) is correct.

3. ¥ Both conclusion (i) and (ii) are correct.



4. % None of the conclusions are correct.

Question Number : 8 Question Id : 630680805045 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
&3 (%), 2,8 |DELS Q) T 5¢b BOC ST REN R SFAN. B9 SAD e DODE DHOG DB (DBD IO DOTHE0E:

(D8

DOED T°5055505°8 9B SR 13 DS 20245 DD DB ST° 565 BASS 2°5BNAHNS e95°¢H e §'¢5 TZOEB™ TTCh.
0°50:

i) Sef. BBEO (7 2V NE°ON TS 12 ADS 2024 ST°$ON0 0 AN DOTTED.

ii) 13 2R ED FS 2023 TAXSS 22°53A0HS 952 BOEO™ TS,

Options :

1. ¥ S0T7850 (i) (559 OBIE.

2. % S0T750 (ii) S7(e55 OBIA.

3. % &0750(1) B0 (ii) BOCET DB S.
4. % QoD D DB ).

Question Number : 9 Question Id : 630680805046 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In October 2023, which of these states or Union Territories was among the top 3 performing States or Union Territories to receive Azadi Ka Amrit Mahotsav
Awards by PM Shri Narendra Modi?

Options :

1. # Puducherry
2. % Gujarat

3. % Tamil Nadu
4. ¥ Ladakh

Question Number : 9 Question Id : 630680805046 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

523850 20236, DTS00 (3 B0 SrAT ©3257E 5° €969 ST )S @I ©90C0ES) 3 e T aFen B Bo(es IO
oo &S0 DE?

Options :

1. % HETH8

2. ¢ HRTS

3. % S °Ch

4. % o8

Question Number : 10 Question Id : 630680805048 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Rajya Sabha passed the Constitution (Jammu and Kashmir) Scheduled Tribes Order (Amendment) Bill, 2024 on 9th February 2024 to amend
with respect to the UT of J&K.

Options :

1. # the Constitution (Jammu & Kashmir) Scheduled Tribes Order, 1969
2. % the Constitution (Jammu & Kashmir) Scheduled Tribes Order, 1978
3. ¢ the Constitution (Jammu & Kashmir) Scheduled Tribes Order, 1989
4. % the Constitution (Jammu & Kashmir) Scheduled Tribes Order, 1996

Question Number : 10 Question Id : 630680805048 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

235302 $0BC5N 52928 T0EY UT(30(S b (3r0e50) & Ho0H0D Q DXIBOITETE 9 (20698 20245 T250M0 (2305
SB050 5°328) eSS | B ) &85 (D58€9) W, 20248 T°23525 SRTFE0DOE.
Options :

1. % 0°a5000 (36300° & 5°925) 25O TS ) 395, 1969
2. % orers0N0 (23630 & 5°925) CEESS TS ) 395, 1978
3. 0725000 (85057 & 5°920) s (TS ) 3956, 1989
4. % Ore5000 (3607 & 5°9205) TS (TS ) esUB, 1996

Question Number : 11 Question Id : 630680805049 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In February 2024, APAAR was launched by Ministry of Education through Common Service Centres (CSCs) in remote villages of India. What is the full form of
APAAR?

Options :

1. % Automated Present Academic Assistant Registry



2. % Automated Permanent Academic Assessment Registry
3. % Automated Personal Academic Account Registry

4. % Automated Permanent Academic Account Registry

Question Number : 11 Question Id : 630680805049 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

D258 202465, APAAR @9 2 S3SHTF0TR Srs0red PR eS /PGS W TO(TTO (CSCEN) T ST° DTS 00| e3¢5 § F° & ST°
rS00IDB0E. APAAR TBE) ARG S0 ae3?

Options :

1 * s3ETHBE (DB @EBNT V0 823X

(Automated Present Academic Assistant Registry)

2. % SETREEE HOITOE ST eDVI0E 83X

(Automated Permanent Academic Assessment Registry)

3. % SEIEEE HBINS ST eF 0 B3 Y

(Automated Personal Academic Account Registry)

4. ¥ SEFFEE DEIS0E BT FT0E 823N

(Automated Permanent Academic Account Registry)

Question Number : 12 Question Id : 630680805050 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In March 2024, which of these apps was launched by the Election Commission to facilitate easier voting for PWDs and to avail facilities at Polling Stations?
Options :

1. % Sugamya

2. ¢ Saksham

3. # Sahayta

4. % Saral

Question Number : 12 Question Id : 630680805050 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

538 202465, PWDOEO 02501 8,2 SONTTRE 08050 FOOR VASOES’ ET°50% FOTTOCNE DY ES D050 De3S
AT (FS0D0D0E?

Options :

1. % Qo8g

2.9 S8

3. % QS Aer

4. % 98¢

Question Number : 13 Question Id : 630680805052 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
This question consist of two statements — Assertion (A) and Reason (R). Answer the question selecting the appropriate option given below:

Assertion (A): A day-long ‘Purple Fest’ has been organised at the Amrit Udyan in Rashtrapati Bhavan on February 26, 2024.

Reason (R): The ‘Purple Fest’ aimed to raise awareness about different disabilities and their impact on people's lives and to promote understanding, acceptance
and inclusion of persons with disabilities within society.

Options :

1. % Both A and R are true, and R is the correct explanation of A.

2. % Both A and R are true, but R is not the correct explanation of A.
3. % Ais true, but R is false.

4. % Both A and R are false.

Question Number : 13 Question Id : 630680805052 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

& (0%, DR)eh 3850 (A) DB B0 (R) O BOCK [SIEEISEN EOLTON. BN R 2BS DS Deh JONE JOTHH (%50
D3PGS0 QS S0&:

Q) EL0 (A): DI 26, 2024 T RIS 23S @959 G5 S06 28 FBow® NS DR AE 5008,

5390 (R): 'S0 DY OFE DS, DEPEN sHBAN (29256 EDTO ) a7¢3 (5927650 B0 ITPEFS DOTICH0 sHBA5D Dadrazocs
B0 &) S5O @90 TNEIB0, OREBOTI0 DB TEHER), 18I0 ©F SO DEPZ0E.

Options :

1. ¢ A 08050 R DO D230 sHOAN R 9 A T30E) OB DBk,

2. % A X805 R BOGr D230, 5°0 R @9 A By OB DedBeD 520,

3. % AR JB0, SO R 06 &),

4. % A 38050 R 9D BOKT ).



Question Number : 14 Question Id : 630680805053 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of these metal was banned to be used in firecrackers by the Supreme Court in National Capital Region and all other parts of India ahead of Diwali in
November 2023?

Options :

1. * Boron

2. % Barium

3. # Chromium
4. ® Strontium

Question Number : 14 Question Id : 630680805053 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

55025 20236S° HIHDE SN0 2PBODH TBEFR (OO OO PSSTFOS' @) ASS (0TS & SR HEFFS
GHTBPAOIETRY, NDOEL A S0DOE?

Options :

1. % oo

2. ¢ 238090

3. % (Fnaho

4. % | FQ0N0

Question Number : 15 Question Id : 630680805055 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of these was included in the prestigious UNESCO World Heritage list in September 2023?
Options :

1. ¢ Hoysala Temples, Karnataka

2. # Lingaraj Temple, Odisha

3. % Yamunotri Temple, Uttarakhand

4. % Dilwara Temples, Rajasthan

Question Number : 15 Question Id : 630680805055 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

DE3S” 025 202365’ (HBTHIETOS AW, (V0TS B¢ ¢ 2rDeeeS TEIDE0E DE?
Options :

1. ¢ 00N B 08ren, §T°¢08

2. % oioreS TR0, B3

3. % AHINSTE 3000, GSTDOH

4. % BEr0° BreOSren, T°BS

Question Number : 16 Question Id : 630680805056 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of these is the science of analyzing physical or behavioral characteristics specific to each individual to authenticate their identity?
Options :

1. % Biocenosis

2. % Biometrics

3. % Bioactive

4. % Biologism

Question Number : 16 Question Id : 630680805056 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

DS 1 9588 a8 00N |FPHreEB0ITRE AR 27 BE B (DG OF 720 DINOT (N0 E?
Options :

1 ¥ 23RSV

2. ¢ 2B X0(e38)

3. % Arairss

4. % B37° Qo

Question Number : 17 Question Id : 630680805057 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

In this question, a statement is given followed by two conclusions. Choose the correct response from the given four options:
Statement:



In a mercury thermometer, a glass tube is filled with mercury and a standard temperature scale is marked on the tube.
Conclusion:

i) With changes in temperature, the mercury expands and contracts, and the temperature can be read from the scale.
ii) Mercury thermometers can be used to determine body, liquid, and vapor temperature

Options :

1. % Only conclusion (i) is correct.

2. % Only conclusion (ii) is correct.

3. ¢ Both conclusion (i) and (ii) are correct.
4. % None of the conclusions are correct.

Question Number : 17 Question Id : 630680805057 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

& (H3),6°, 28 1DFES T 805 BO) BTRE RS SDTFZON. 83 SRS TEND DODES OB B (DD )OS DOTHE0H:

DELS:

é"éé&)o BTNEBES’, 2.8 a3 )0 SN0 D0G SOENOE OO FEI0D ([FSreds Sel|ied S HB0IDG GOENOS.
T°0:

i) &:fgsmé@s SPBIIOE, FEH0 & EFOD), DOFDINOE OGN G e0 OB BN,

ii) 388, 1655 0G5 3B P55 AFONOIETIE S0 HTMEIE EITBrA0TISTN)

Options :

I % S0%380 (i) S50 OBIE.

2. % S0X0 (i) S| DBIE.

3. ¥ SO0 (i) SOOI (ii) BOET OB SD.

4. % ST DN DB 5°).

Question Number : 18 Question Id : 630680805058 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
This question consist of two statements — Assertion (A) and Reason (R). Answer the question selecting the appropriate option given below:

Assertion (A): Laparoscopy allows a surgeon to use only small cuts and a camera for procedures inside the tummy or pelvis.

Reason (R): A laparoscopy is done under general anaesthetic condition.
Options :

1. # Both A and R are true, and R is the correct explanation of A.
2.+ Both A and R are true, but R is not the correct explanation of A.
3. ¥ Ais true, but R is false.

4. % Both A and R are false.

Question Number : 18 Question Id : 630680805058 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

& (53265, DR 850 (A) SHOAI TG0 (R) @ BOCK [DDFEISE EOETON. AN RS 52330 DN JODED DOTHH (53 50
QD3PGS0 QS 0&:

DR FES0 (A): eFIT D OO DS DY TS5 OO ) B> FPREEY) ' TONEO FR0 BT S5

& IOBTAOIEIE @000,

530 (R): GG s HOVBES’ xSy 2 TOHDRS0E.
Options :

1% A X805 R BOGr Q230 $HOAN R 9T A T30E) OB S DB,
2. ¥ A B80S0 R BOGY D230, °Q R @I A BBy OB DadSea 5°¢.
3. % A0 JB0, SO R 03O &9)).

4. % A X080 R @03 BOG ¢6)).

Question Number : 19 Question Id : 630680805059 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of these is defined as the rate of formation of new organic matter by consumers?
Options :

1. % Net primary productivity

2. % Gross primary productivity

3. ¢ Secondary productivity

4. % Tertiary productivity

Question Number : 19 Question Id : 630680805059 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

D3 DATFHTHOT § DOIAADH HDETP0 ST BT S FDOIDB0E DE?
Options :

1. # Q&Y (7S cse)58eh



2. % Qe (PO o) d%eh
3. ¥ BSOS GE )5
4. % $HB0H GEe)dES

Question Number : 20 Question Id : 630680805060 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
This question consist of two statements — Assertion (A) and Reason (R). Answer the question selecting the appropriate option given below:

Assertion (A): Persons with blood group ‘AB’ are called ‘universal recipients’
Reason (R): Group ‘O’ blood can be donated to persons with any other blood group.

Options :

1. % Both A and R are true, and R is the correct explanation of A.
2.+ Both A and R are true, but R is not the correct explanation of A.
3. % Ais true, but R is false.

4. % Both A and R are false.

Question Number : 20 Question Id : 630680805060 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

& (0%, DR)eh 850 (A) S0B050 B0 (R) O BOCK [SIEEISEN EOLTON. BN B9 2BS DS Deh JONE DOTHH (%)%
NIPEE0 QS §0&:

QR)h FESO(A): DE (1R 'AB' €5 S50 D¢ Hfaredeny e0erSd.

580 (R): 57D ‘0° 85°Q) DB® 965G DE (1070 €5), $9530E0 3750 TANID))
Options :

1. % A X805 R BOEr D230 $HOAN R 9T A T30E) OB DSBea.

2.7 A OB R BOGT D230, °Q R @I A BBy OB Daddea 5°¢.

3. % AR JB0, SO R 06 &9)).

4. % A X800 R @03 BOGF ¢65)).

Question Number : 21 Question Id : 630680805061 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Anorexia nervosa is a disorder.
Options :

1. # Sleeping

2. ¥ Anxiety

3. ¢ Eating

4. % Personality

Question Number : 21 Question Id : 630680805061 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
OSBEYIE ST a8 Sorfech.
Options :

L%

2. % S08FS

3. ¢ &3¢0

4. % S58¢550

Question Number : 22 Question Id : 630680805063 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Match the following columns I and IT and choose the CORRECT answer from the given options.

Column I Column IT

(Phylum) (Distinctive features)
A. Ctenophora 1. Choanocytes
B. Porifera 2. Bioluminescence

C. Coeclenterata (Cnidaria) | 3. Water vascular system

D. Echinodermata 4.Polyp and Medusa

Options :

1. % A-1,B-2, C-3,D-4
2.% A-2,B-1,C-4,D-3
3. % A-4,B-3,C-2,D-1
4. % A2 B-3,C-1,D-4



Question Number : 22 Question Id : 630680805063 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Z0d | sn8aiw [l Densy) HDOMN) 28000, fa('f)a:f) Jodge Hod DD DALY DocoFod.

D60 | SR Il

(poo) (Dogegns vgmro)
A. 2EIToe 1. T80
B. &8s 2. ATDIVDY

C.dToerder (DA=Bowe) | 3. DS POGER JFOY

D.apdScd) e 4. B S0BCIN DT

Options :

1. % A-1,B-2,C-3,D-4
2. A2, B-1,C-4,D-3
3. % A-4,B-3,C-2,D-1
4. % A-2,B-3,C-1,D-4

Question Number : 23 Question Id : 630680805064 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of these is the change of gaseous state directly to solid state without going through liquid state?
Options :

1. # Sublimation

2. ¥ Decantation

3. ¢ Deposition

4. % Evaporation

Question Number : 23 Question Id : 630680805064 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

OS50 VB NOEG (35 VDBES’E BLLOT AT 0 VA SrBIA De3S® E?
Options :

1. % €5¢5)ed5dadm

2. % SBH®

3. ¢ QT.H00

4. % 232212565850

Question Number : 24 Question Id : 630680805065 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In this question, a statement is given followed by two conclusions. Choose the correct response from the given four options:
Statement:

Sound is a mechanical wave and needs a material medium for its propagation.

Conclusion:

i) Sound cannot travel through vacuum.

ii) Air is the most common medium through which sound travels.

Options :

1. % Only conclusion (i) is correct.

2. % Only conclusion (ii) is correct.

3. % Both conclusion (i) and (ii) are correct.

4. % None of the conclusions are correct.

Question Number : 24 Question Id : 630680805065 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

& (5326, 208 1DFES T 805 BO) STREN RS SDFZOW. RS SRS TEND DODES OB HBS (DD )05 DOTHE0A:

(DEES:

S5 2.8 ASO(EE SBOH0 HBAN T DGO TR0 2,8 DG ASrSE0 e9350E0.
T°0:

i) F°d50 @ ST° 8 (DASPEI05 .

i) $54Q 1DASTE30TT 85065 geSen OSrIE0 ).

Options :

1. % 07850 (i) S5 DBIB.

2. % Q00 (if) S5 TH DBIE.

3. ¢ S030 (i) OO (ii) BOF® OB SI.



4. % ST DD OB 5.

Question Number : 25 Question Id : 630680805066 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In Wurtz reaction, alkyl halides on treatment with metal in dry ethereal (free from moisture) solution give higher alkanes.
Options :

1. ¥ Sodium

2. % Calcium

3. ¥ Potassium

4. % Lithium

Question Number : 25 Question Id : 630680805066 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

&8 (Wurtz) 58565, & SBO0HS (B B) ([Tde0eS SO TGS 23BHB0 SOS BBS FTBHEN WOE ST)LSOL
BB W.

Options :

1. ¢ F&aAHo

2. % 52¢0H0O

3. % greraodo

4. % OBONO

Question Number : 26 Question Id : 630680805067 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

For how many years, Quli Qutb Shah ruled in Andhra?
Options :

1. % 30 years

2. % 31 years

# 32 years

oW

# 33 years

Question Number : 26 Question Id : 630680805067 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

50O 5065025 X oIS DAY D0 TN FOOTCE?
Options :

1. % 30 H0Sed yoren

2. ¥ 31 Q0Jed )T e

3. % 32 309¢8)oren

4. % 33 Q0SS o e

Question Number : 27 Question Id : 630680805068 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

What was the main source of income for the state of Andhra Pradesh at the time of Qutb Shahi rulers?
Options :

1. % Tourism

2. % Land revenue

3. % Custom dues

4. % Feudal levies

Question Number : 27 Question Id : 630680805068 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

B0e5025 arar OO SO0 S0 (DTF TaFQ8 (DGR eSO 958 DE?
Options :

1. % Jorgeddo

2. ¥ 3 &S8TPONO

3. % ZQa 25PONED

4. % 25°P 50§ D000

Question Number : 28 Question Id : 630680805069 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Who was Mahasibs or Mustasibs during Qutb Shahi rulers in Andhra Pradesh?



Options :

1. % In-charge of public morals
2. # Chief Justice

3. # The head of Taraf

4. % In-charge of Civil cases

Question Number : 28 Question Id : 630680805069 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

0SS IOTFTES’ 50625 Tor FOH 06’ 68325 N BT DRI N weI?
Options :

1. ¢ (D2 IEBB0 a0

2. % DS 50008

3. % 07D @9ODD

4. % DS 30 A0

Question Number : 29 Question Id : 630680805070 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of these Qutb Shahi ruler permitted the English East India Company to establish trade centres at Machilipatnam in 1611 C.E.?
Options :

1. # Jamshid Quli

2. % Muhammad Quli

3. # Abdullah Qutb Shah

4. % Tbrahim Qutb Shah

Question Number : 29 Question Id : 630680805070 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

1611 C.E. & 0000 06 a7e3235 BOTTO&) 058 €0T0%H SiOROST S0 90000 05025 2o FOECR eSEd?
Options :

1. % 2008 5O

2. ¢ 305028 %O

3. % @20e” Hoedddd b

4. % Q2570 H08d25 ar

Question Number : 30 Question Id : 630680805072 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of these districts in Andhra was first Telugu speaking region to start social reform movement?
Options :

1. # Vishakapatnam

2. ¢ East Godavari

3. # Vizianagaram

4. # Eluru

Question Number : 30 Question Id : 630680805072 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

ASTE HODYBE EIXITR), (PSODODD BN BeH SIEIT (DPOS0 0SS’ & 28erS DE?
Options :

1. % J3HE)0

2. ¢ %) A d

3. % QaahSKido

4. % Qe

Question Number : 31 Question Id : 630680805073 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In which year was the first Round Table Conference held between the Indian leaders and the British?
Options :

1. % 1919

2. % 1923

3. % 1928

4.9 1930



Question Number : 31 Question Id : 630680805073 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

2B TOHZIEN AW (DESR T8 sCSs BcHE3 T'0& T2 DSTHF0 O H05eh 50 238A0E?
Options :

1. % 1919

2. % 1923

3. % 1928

4.+ 1930

Question Number : 32 Question Id : 630680805074 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

When was the Civil Disobedience Movement withdrawn by Mahatma Gandhi?
Options :

1. % April 1932

2. % June 1933

3.9 April 1934

4. % August 1935

Question Number : 32 Question Id : 630680805074 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

FOSDON G537, 053 POE DY) GHDOITOOTHE®Y K02
Options :

1. % QDS 1932

2. % 23S 1933

3. QDS 1934

4. % 309> 1935

Question Number : 33 Question Id : 630680805076 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Who among the following was a lawyer from East Bengal and was especially active in the Non-Cooperation Movement?
Options :

1. ¢ Chitta Ranjan Das

2. ¥ Subhash Chandra Bose

3. ¥ (. Rajagopalachari

4. % Asaf Ali

Question Number : 33 Question Id : 630680805076 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 8 |DBEOD DTP0D DTEBD E5CI5006S THEHENT €5ed) 43S BOTPOED TOAN T°FADTE DIS?
Options :

1. ¢ QS S0z o

2. % Q02 ol SR

3% Q. orafarooed

4. % @09 ed

Question Number : 34 Question Id : 630680805077 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Match the following columns I and IT about Socio and Religious Reform
Movements and year in which they were founded.

Column I Column IT
(Socio and Religious Reform (Founded in the year)
Movements)
A. Satya-Shodhak Samaj 1. 1875
B. Veda Samaj 2. 1903

C. Shree narayana Dharma 3. 1864
Paripalana Yogam

D. Arya Samaj 4. 1873

Options :



1. % A-1,B-2,C-3,D-4
2. % A-2,B-4,C-1,D-3
3. ¥ A-4,B-3,C-2,D-1
4. % A2, B-3,C-1,D-4

Question Number : 34 Question Id : 630680805077 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
PRTeE sDOCIN s N0 EtI5ATen SO &) FrR0RRN NOS T OH TOAS
Bod Dendd S 108050 1D 26658508,

BNTOVENR SHO T
([Rrdress L6050 S Hodyde | (Hodé B0 Faodadod)
= TARTEWRDV)
A Debe-508 Do 1. 1875
B. 3¢ Dareao 2. 1903
C. 30D 38 DOTeS | 3. 1864
Giriio

D. 885§ DadTrR0 4, 1873

Options :

1. % A-1,B-2,C-3,D-4
2. % A-2,B-4,C-1,D-3
3.9 A-4,B-3,C-2,D-1
4. % A2 B-3,C-1,D-4

Question Number : 35 Question Id : 630680805078 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In this question, a statement is given followed by two conclusions. Choose the correct response from the given four options:

Statement:

In 1906, the All India Muslim League was founded under the leadership of the Aga Khan, the Nawab of Dhaka and Nawab Mohsin-ul-Mulk.

Conclusion:

i) The All India Muslim League supported the partition of Bengal.

ii) The All India Muslim League raised the slogan of separate Muslim interests, demanded separate electorates and safeguards for Muslims in government
services.

Options :

1. % Only conclusion (i) is correct.

2. % Only conclusion (ii) is correct.

3. # Both conclusion (i) and (ii) are correct.

4. None of the conclusions are correct.

Question Number : 35 Question Id : 630680805078 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
&3 (532,65, 28 1DFES T 805 BOC) BTIRTEN RS SDTFZON. 83 SRS TEND DODES OB B (DD )OS DoTHE0A:
DEES:
Q1;9066‘, TS ST TTETS sHOON 25 RV S-ES-S0S), °0HES 06 &3S BOAOST SNV0 OF FDOIDB0A.
oR0:
i) Bén"é D523 S ROGOST SN0 OF HPe3 D YOO,
i) 3O0GAT 500 OF (HB5E S0V0 (HTFBT AT BITB0A, (HB5E 2D SO0 [H2DEH§ 1SS SNVOWEL B3
80100 AXTro& B0,
Options :
1. % 07850 (i) Jr(5aD DBIB.
2. % S0280 (ii) 755 DBXE.
3. % 0790 (i) OO (ii) BOT HBSD.
4. ¥ BT DD OBID 5.

Question Number : 36 Question Id : 630680805079 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33



The last Mauryan king was killed by his Commander-in-Chief, .
Options :

1. # Dattamitra Shunga

2. # Vibhuti Shunga

3. ¢ Pushyamitra Shunga

4. # Indrabhattarika Shunga

Question Number : 36 Question Id : 630680805079 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

DB 58§ T2 e D § VeI T 00T,
Options :

1% 5865 HoK

2. % Qred Hod

3. ¥ HI5(S Hok

4. % Q0(c53¢r88 Hod

Question Number : 37 Question Id : 630680805080 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The pottery from 1000 B.C. to 600 B.C. found in the Gangetic plain is called the pottery.
Options :

1. * Painted Black Ware

2. ¢ Painted Grey Ware

3. * Painted White Ware

4. % Painted Brown Ware

Question Number : 37 Question Id : 630680805080 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

1000 B.C 00 600 B.C. SE50 0T TS0 E0F5203S 00850 Z00cten e e0erdd.
Options :

1. % 2ono®& &8 30

2. ¢ 200086 11T 30

3. % ono®& 38 ID

4. % 200088 2578 36

Question Number : 38 Question Id : 630680805081 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of these is a technique used at several Indian sites of palaeolithic period such as Sembur , Tamil Nadu to produce stone tools?
Options :

1. ¥ Lacoid technique

2. ¢ Levallois technique

3. *# Placoid technique

4. % Hollois technique

Question Number : 38 Question Id : 630680805081 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

SDFT RS’ D025 S0E3 DS FETONTAL TOAS eFE erBEB0% (DTFOES T°e3 HASNED e5eh ) TOHTIE HeIS
GOTPAOT FPOTBES DO?

Options :

1. % e8on& Jr08e38e (Lacoid technique)

2.9 @é@SQDFm) Jr0Be3&eh (Levallois technique)

3. % FSonk r0SedEeh (Placoid technique)

4. % RSN FoBeEes (Hollois technique)

Question Number : 39 Question Id : 630680805082 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Of all the states that grew out of debris of the Gupta Empire, which of these kingdoms had the rulers Maharaja Dharapatta and Guhasena?
Options :

1. ¢ The Maitrakas of Valabhi

2. ¥ The Yasodharman of Kanauj

3. ¥ The Maukharis of Kanauj

4. % The Pushyabhutis of Thanesar



Question Number : 39 Question Id : 630680805082 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

9 (52350 TBNEY FDETE HOG DOAS Q) T AP, S0IFT2 (IBHE) DB HISF RO FPeFoen He> T°2350 DE?
Options :

1. ¥ 3©8) B D(ebseen

2. % E3%S O3y ONFTBES

3. % E3e5 A30E) SSar8en

4. % I00 BNy AN

Question Number : 40 Question Id : 630680805083 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of these kings were the first in Indian history to make tax free land grants to Buddhists and Brahmanas to gain religious merit?
Options :

1. # Partian kings

2. % Satavahanas kings

3. # Kushana kings

4. % Shaka kings

Question Number : 40 Question Id : 630680805083 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

& TS aPSHTE I8(HES 2T LRV BTN (25T 2ENE DSDETS @085 SFOTTOCHE D) B5e5 TP 03B TS SO
T2 DIE0?

Options :

1. % B8 Tearen

2. ¥ FSTTN T2PeN

3. % J0are oveen

4. % 38 oreren

Question Number : 41 Question Id : 630680805084 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In how many volume Abul Fazl wrote a history of Akbar’s reign, titled Akbar Nama?
Options :

1. ¥ Two

2. ¢ Three

3. * Four

4. ® Five

Question Number : 41 Question Id : 630680805084 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

920 HBS @515 TS @O RS )6 PO IB(HD I DONEFSS (T CR?
Options :

1. % Bocdr

2.9 Qe

3. % Jrent

4. % 000

Question Number : 42 Question Id : 630680805085 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statement is CORRECT about Chola kings?
Options :

1. # The Chola Empire was founded by Rajendra I.

2. ¢ Aditya I succeeded Vijayalaya to become the ruler of the empire.
3. % Aditya I was popularly called the Victor of the Ganges.

4. ® Vijayalaya received the title of ‘Gangaikonda’.

Question Number : 42 Question Id : 630680805085 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
S overed HB0D 80O ¢3S DB IE?
Options :



1. % 5% r50°255Q), "0 T ) 0Tesd.

2. ¥ @385 T DBATOOD HHTd (35728 POFVCH e9OSTS.
3. % 303 Ie HOMSR DZEeh @ DENTX.

4. % Q205000 ‘HORTON’ @R DR ODODOB.

Question Number : 43 Question Id : 630680805087 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In 1526 Babur defeated the Sultan of Delhi, Ibrahim Lodi, at Panipat and captured
Options :

1. ¢ Delhi and Agra

2. ¥ Delhi and Kanpur

3. ¥ Agra and Kanpur

4. # Delhi and Allahabad

Question Number : 43 Question Id : 630680805087 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

152665° 27208 DY 58 GO S Bexdro SB LAOD O F B0 TnZo=) ¢,
Options :

1L¥ GO 3808w esr

2. % 3O HHB0%M T&E>°)E

3. % e3P DB 52 )0

4. % 3O %805 s

Question Number : 44 Question Id : 630680805088 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Match the following columns I and IT and choose the CORRECT answer from the given options.

Column I Column IT
(Delhi Sultan) (Period of rule)
A. Jalaluddin Khalji 1. 1451 -1489
B. Muhammad Tughlug | 2. 1414 -1421
C. Khizr Khan 3.1324 -1351
D. Bahlul Lodi 4. 1290 — 1296

Options :

1. % A-1,B-2,C-3,D-4
2. % A-2,B-1,C-4,D-3
3. % A-4,B-3,C-1,D-2
4.9 A-4,B-3,C-2,D-1

Question Number : 44 Question Id : 630680805088 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
20d | sndoiw [ Dend) SmMDeN) 2000, %h'f)asa Jonge Mol DTN QALY Docu&odl.

DO | DO NI
(&D 2oerav) (ers s7e30)
A. 200 ) 1. 1451 -1489
B. dviranys eons 2. 1414 -1421
C. Dab ard 3.1324 -1351
D. &)3roes &°¢ 4.1290 — 1296
Options :

1. % A-1,B-2,C-3,D-4
2. % A-2,B-1,C-4,D-3
3. % A-4,B-3,C-1,D-2
4.9 A-4,B-3,C-2,D-1

Question Number : 45 Question Id : 630680805089 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Territory of which of these dynasties was called Tondaimandalam?
Options :

1. # Chalukya dynasty



2. % Kakatiya dynasty
3. # Satavahana dynasty
4. ¢ Pallava dynasty

Question Number : 45 Question Id : 630680805089 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

DS’ T30 TNEY Brerr), SOBHOBOO0 Q) DN E?
Options :

1. % o085 o°3§0

2. % EROH T°e350

3. # PSSO O°3§0

4. ¥ D05 Te3§0o

Question Number : 46 Question Id : 630680805090 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of these rivers is known as the Tsang Po in Tibet?
Options :

1. # Ganga

. # Jhelum

. % Brahmaputra

. # Mahanadi

AW N

Question Number : 46 Question Id : 630680805090 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 S’ 3¢5’ @ )0f &F (Tsang Po) @Q DENSDTE IE?
Options :

1. % 5o

2. % B0

3.9 27|

4. % DIV

Question Number : 47 Question Id : 630680805091 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Indian rivers are divided into major groups.
Options :

1. ¥ Two

2. % Three

3. % Five

4. % Six

Question Number : 47 Question Id : 630680805091 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

PGB0 SN (DG DTN D2580sdG .
Options :

1. ¥ Bocd

2. % Qe

3. %

4. % &

Question Number : 48 Question Id : 630680805092 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In which of these states of India, Loktak lake is located?
Options :

1. % Assam

2. % Mizoram

3. % Manipur

4. % Tripura

Question Number : 48 Question Id : 630680805092 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33



2rESTFOS’ & A SESE S0 D TR0’ G0E?
Options :

1. % @J°)0

2. % o

3. 030

4. % (@)

Question Number : 49 Question Id : 630680805093 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Mahogany, ebony and rosewood are the important trees of
Options :

1. ® Tropical deciduous forest

2. % Mountain vegetation

3. ¢ Tropical Evergreen Forests

4. ® Mangrove forests

Question Number : 49 Question Id : 630680805093 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

SR, DB 0O FF HE D08 DTS H9Seem.
Options :

1. % &QAN0GBO SRTS) 9D

2. % DG 55 5980008

3. ¢ GRD0%E debed 78 echeen

4. % 30¢h e9cssyen

Question Number : 50 Question Id : 630680805094 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is CORRECT with respect to physical features of India?

Options :

1. ¥ The Shiwalik ranges are mainly composed of highly compressed and altered rocks.

2. # The folds of the Great Himalayas are symmetrical in nature.

3. # The Himalaya consists of four parallel ranges in its longitudinal extent.

4. % Himadri is the most continuous range consisting of the loftiest peaks with an average height of 6,000 metres.

Question Number : 50 Question Id : 630680805094 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 ¢3S’ eSS T 2TRE ©FETFOZ HDOOBOD OB DE?

Options :

1. % 3OF (FL0e0 (DFSOMT 95065 SoH0TINGD 0T DG FOOS S SOETow.
2. % X055 STrOAST 085N (DEHBS’ PRS0 SOErow.

3. % 2RSrOOSTen 3 Beros SO Teni DSTroS (3en EOR Gotrow.

4.9 6,000 DS DHED DRNE IBS FPTOS S @508 D)) (363 SrSr(&.

Question Number : 51 Question Id : 630680805095 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
As per the fifth round of the National Family Health Survey (2019-21), the sex ratio of the population (females per 1000 males) for India was estimated as

Options :
1. % 1005
2. %1010
3. % 1015
4.9 1020

Question Number : 51 Question Id : 630680805095 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

2705 Hoen02y 87 HB 5 (2019-21) TENEY, B35 Dhed (D50, 2rEHTF0S 23723 Dot DI (1000 0 DL [ e) m
@ONT® FAHAB0A.

Options :

1. % 1005

2. % 1010

3. % 1015



4.+ 1020

Question Number : 52 Question Id : 630680805096 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

What was the literacy rates of India as per Census 2011?
Options :

1. % 71.04%

2. % 72.04%

3. % 73.04%

4. v 74.04%

Question Number : 52 Question Id : 630680805096 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

2011 2309°2° S8R (D5°B0 2rBHTE 08,0055 BED Oh?
Options :

1. % 71.04%

2. % 72.04%

3. % 73.04%

4.9 74.04%

Question Number : 53 Question Id : 630680805097 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As per National Population and Housing Census 2021 of Nepal, what percentage of birth of children of age 5 years and below was NOT registered in Nepal?
Options :

1.9 26%

2. % 36%

3. % 46%

4. % 56%

Question Number : 53 Question Id : 630680805097 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

IS 2D 23757 DO e 19695 2021 (DGO, BFSES SR Q) 5 D0SS5IT° BN eOSBE0T 80765 SADDY Eed)
VDO BN TS0 DOeH?

Options :

1. ¥ 26%

2. % 36%

3. % 46%

4. % 56%

Question Number : 54 Question Id : 630680805098 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As per Pakistan Economic Survey 2022/23, the literacy rate of Pakistan according to Labor Force Survey 2020- 21 was
Options :

1. ¥ 62.8%

2. % 61.8%

3. % 60.8%

4. % 59.8%

Question Number : 54 Question Id : 630680805098 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

TS @388 5B §2022/23 1H5°E0, B2rd 8 OB § 2020- 21 D50 8PS €0F.0°05¢5 Ben )
Options :

1. 62.8%

2. % 61.8%

3. % 60.8%

4. % 59.8%

Question Number : 55 Question Id : 630680805099 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33



Match the following columns I and IT and choose the CORRECT answer from the given options.

Column I Column IT
(Religion) (Population as per Census 2011)
A. Sikhs 1. 1.7%
B. Christians 2.2.3%
C. Buddhists 3. 0.4%
D. Jains 4.0.7%

Options :

1. % A-1,B-2,C-3,D-4
2. % A-1,B-2,C-4,D-3
3. % A-2,B-1,C-4,D-3
4. % A-2,B-1,C-3,D4

Question Number : 55 Question Id : 630680805099 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
So& | 200030 || Densy) HEmRDoR) @b, -’ac‘i)():) Doage) 0ok PP QAT Do od.

Falobrall aachia
(a0e80) (2011 axerer TE),© Y500 2arer)
A. D5 e 1.1.7%
B. Saen 2.2.3%
C. &Fcoen 3.04%
D. Zaen 4.0.7%

Options :

1. % A-1,B-2,C-3,D-4
2.% A-1,B-2,C-4,D-3
3. % A-2,B-1,C-4,D-3
4. % A-2,B-1,C-3,D-4

Question Number : 56 Question Id : 630680805100 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which soils in Andhra Pradesh are also called as Regurs or Vertisols?
Options :

1. # Red soils

2. % Skeletal soils

3. ¥ Black soils

4. # Lateritic soils

Question Number : 56 Question Id : 630680805100 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

SOPIITTS' Q o0 BHG) Ber IOFS ) 9 e DN S?
Options :

1. % B Jeen

2. % perd Jeen

3. ¢ SO Joewn

4. % ere0¢38 Joew

Question Number : 57 Question Id : 630680805101 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of these is the highest peak in Andhra Pradesh located in Alluri Sitharamaraju district?
Options :

1. ¥ Arma Konda

2. % Gali Konda

3. % Jindhagada Peak

4. % Sinkram Gutta



Question Number : 57 Question Id : 630680805101 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

@B VBTN BYS &5) SOPINTTES IBS FPE0 IE?
Options :

1. ¥ 8 Tocs

2. % md §ocs

3. % 22085(5¢ ZDS0O

4. % 050 H

Question Number : 58 Question Id : 630680805103 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As per Andhra Pradesh Forest Department, as of May 2024, the state of Andhra Pradesh is ranked 8th in the country in terms of the Recorded Forest Area (RFA)
which is sq. km.

Options :

1. ¥ 34,258
2. % 35258
3. % 36,258
4. 37,258

Question Number : 58 Question Id : 630680805103 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

SO(BNTT @D T (D0, 3 2024 F°¢38, SOBSITT TR0 O5°BE B DOCST (RFA) HSOTT BF0S' 855 S0’ &08, 9
sq. Km ex .

Options :

1. % 34,258

2. % 35258

3. % 36,258

4.+ 37258

Question Number : 59 Question Id : 630680805104 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following districts of Andhra Pradesh are rich in Gold resources?
Options :

1. % Chittoor, Kurnool, Kadapa, Ananthapur

2. % Kurnool, Kadapa, Srikakulum, Guntur

3. ¥ Chittoor, Kurnool, Krishna, west Godavari

4. ¥ Kurnool, Kadapa, Prakasam, Vishakapatnam

Question Number : 59 Question Id : 630680805104 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

SO(BNTFTS'D 806 ¢3¢ 2OTTEd DD WEEOTT €55), BW° E?
Options :

1. ¢ DEFS, EE) en, %D, 9S50S0

2. % E8myen, 868, (35RO, HOoErSd

3. % DSFPE, EET) o0, Yok, DB Feedd

4. % B3 en, 88D, (DTE0, DFT°PDE) O

Question Number : 60 Question Id : 630680805105 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statement is CORRECT about river Krishna?

Options :

1. # Itis 851 km long and its catchment area spreads over 1.42 lakh sq. km.

2. # 1t flows towards the west till Telwara and then takes a southwest direction to join the Rann of Kuchchh.
3. ¢ It is the second largest east flowing Peninsular river which rises near Mahabaleshwar in Sahyadri.

4. % Its important tributaries are the Kabini, the Bhavani and the Amravati.

Question Number : 60 Question Id : 630680805105 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 ¢3S’ E9ar SO H0DOBOD) DBXE IE?

Options :

1. % 28 851 km © P89 0O TR DBTHFE [0S0 1.42 ©F © sq. km O QB0 &0&.



2. % Q20 B 00 SEE HPYeN0 DY (D520 sHBAN 5055 B &9 ES5HE0 TITAE TS AFS® (HIeFN0E.
3. ¥ 90 ITFIAST 05FDTF S50 OMWDOE’ (HSIPOT BOS 932 55°0) (D3P0 & §95e) .
4. % B S0P GOS0 D), 2557 08350 €98TIE.

Question Number : 61 Question Id : 630680805109 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The "Panta Sanjeevani" program in Andhra Pradesh aims to increase agricultural productivity. What does "Panta Sanjeevani" mean?
Options :

1. ¥ Pest control

2. # Soil rejuvenation

3. ¢ Construction of farm ponds

4. % Green Revolution

Question Number : 61 Question Id : 630680805109 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

SO(BINTTS’ "D0E D0BSIQ" TGS S0 555D ST )CHEHD DOTIO OF SO DEPZ0E. "H0Ed DI 0T DAEI?
Options :

1. ¥ SHen Qoo

2. % T HABPENS0

3. ¢ 5550 HoQS QTE0

4. % 586 NS0

Question Number : 62 Question Id : 630680805110 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The cultivation of which major commercial crop, often referred to as "white gold," has expanded significantly in Andhra Pradesh in recent years?
Options :

1. # Rice

2. % Wheat

3.+ Cotton

4. % Rubber

Question Number : 62 Question Id : 630680805110 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

"B DOMTE0"TP STV APDOTIDT & (DG 33235 D0 i RE3SO) H03ed YT’ e0(BNTTES HEadANOT IRBODOE?
Options :

1. % 58

2. % Feoadven

3.9 58

4. % S22

Question Number : 63 Question Id : 630680805111 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The construction of the Krishnapatnam Port in Andhra Pradesh has boosted the state's infrastructure. In which region is this port located?
Options :

1. ®¥ Anantapur

2. ¥ Visakhapatnam

3. ¥ Vizianagaram

4. ¥ Nellore

Question Number : 63 Question Id : 630680805111 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

SO(BNTTS'D E9RANEY0 FSFON0 AT*20 T3 SF°OE DV ATFOD DODOA. &8 TS (F0N0 & [0S0 Sod?
Options :

1. % @030

2. % JFTPIEN 0

3. % QaahSnG0

4. [

Question Number : 64 Question Id : 630680805113 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33



When was the Andhra Pradesh Industrial Infrastructure Corporation Ltd. (APIIC) incorporated?
Options :

1. # 26th September, 1972

2. % 26th September, 1973

3. % 26th September, 1974

4. % 26th September, 1975

Question Number : 64 Question Id : 630680805113 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

S0|QNTT Q0VOHS A (DE)0 578 HBAS OWTE (APIIC) D)) FD0BDB0E?
Options :

1. % 26 oY, 1972

2.9 26 Lob, 1973

3. % 26 020, 1974

4. % 26 dob, 1975

Question Number : 65 Question Id : 630680805115 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Match the following items correctly:

1. Jaggayyapeta a. Khammam District
Limestone mine (JLM)

2. Garbham Manganese | b. Krishna District
mine (GMM)

3. Madharam Dolomite | c. Vizianagaram District
Mine (MDM)

Options :

1. % 1-c, 2-a,3-b
2. % 1-a,2-b, 3-c
3.9 1-b, 2-c, 3-a
4. % 1-c,2-b,3-a

Question Number : 65 Question Id : 630680805115 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
S00 oD DO aBDHODI0G:

1. &(jogDe a. MDY
4]
Q0 TN (1D (JLM)
2. (560 D001 (1D b. &5 2er
(GMM)
3. argrdo oot 1D | ¢ DaabHido
(MDM) 2o
Options :

1. % 1-c, 2-a,3-b
2. % 1-a,2-b, 3-c
3.4 1-b, 2-c, 3-a
4. % 1-c,2-b,3-a

Question Number : 66 Question Id : 630680805116 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which function of the environment means the process of recycling of waste material, disintegrating organic material into nutrients by biological action of living
microorganisms.

Options :

1. # Production function

2. % Biodegradation function
3. # Support function

4. % Habitat function

Question Number : 66 Question Id : 630680805116 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33



DTS00 TBEY < DO (HOES) @S 558 ST e> 880R (HEOK, Hedsd 38 228590 8 985 @ sT° DOQAN DT SN
DSBEANB0 © eFo.

Options :

1% &880

2. ¢ D)8 B DO

3% 555 DO

4. % Q30 O

Question Number : 67 Question Id : 630680805117 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

There are the functions of the environment that support human life and economic activity, which one of the following is the first function of them?
Options :

1. # Recycling of organic matter

2. % Safe absorption of the wastes

3. ¢ Production of raw materials

4. % Protection from ultraviolet radiation

Question Number : 67 Question Id : 630680805117 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

53985 EDTP8 SHBO5N 308 S°E5EETOE S0P AT ) DTESIBEI0 TNEY DCHEN o) 0N, T3S RCE3 DG DE?
Options :

1. % 20(&AH Hrgre> 80h

2. % Jsore) E8.& $°ae

3.9 S0 DT b e

4. % @SOS TS N8B0 DO B

Question Number : 68 Question Id : 630680805118 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is a key principle of sustainable development?

Options :

1. # Prioritizing the interests of one particular industry

2. % Exploiting natural resources without limits

3. ¥ Meeting the needs of the present without compromising the ability of future generations to meet their own needs

4. % Maximizing short-term economic growth

Question Number : 68 Question Id : 630680805118 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 3¢3¢S° VT DSHOE 8 (50 DE?

Options :

1. % 2,8 Q0 DOF (DTZPBT O (2P GPed5ed 99 5¢0

2. % 58N BROT D523 SO EDd TaHso

3. ¥ BANEE ST aF8 O 505 @SITE BB JEOR eRTER)), T°28 HCTOT (NS €9:50T"red 3830
4. % 350508 388 S9D D00

Question Number : 69 Question Id : 630680805120 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

What is a primary driver of deforestation and habitat loss, leading to environmental crises such as species extinction?
Options :

1. % Sustainable logging practices

2. % Agricultural expansion and urban development

3. % Expansion of protected natural areas

4. % Decreased demand for wood products

Question Number : 69 Question Id : 630680805120 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

2RO DNV H0E3 HT*5IGED HDOFLTFORH OB 1D BT HOAR ST R0 TINE), (lRONE S0 DE?
Options :

1. % DS erfol HAven

2. ¢ 553700 DB HOAW HEED €98)SHE

3. % 38 ¢ Hre3 0T DG

4. % TE) 55 1e00B A0k SHod



Question Number : 70 Question Id : 630680805121 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Match the Sustainable Development Goal (SDG) with its Description:

Sustainable Development Goals:
A)SDG 7

B) SDG 12

C)SDG 15

D) SDG 13

Descriptions:

1. Ensure access to affordable, reliable, sustainable, and modern energy.

2. Promote sustainable agriculture and responsible consumption and production.
3. Take urgent action to combat climate change and its impacts.

4. Life on land.

Options :

1.% A)2,B)1C)4,D)3
2.¥A)1,B)2,0)4,D)3
3.% A)1,B)2,0)3,D) 4
4.% A)4,B)2,0)1,D)3

Question Number : 70 Question Id : 630680805121 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
VTN FYE ©F 5530 (SDG) T DSBS 23¢5HSTI0R:

QOVTDRIYE ©Fgen:
A) SDG 7

B) SDG 12

C) SDG 15

D) SDG 13

A3BEIEN:

1. DB, 3SR, DB 8050 e360E $8 @00,

2. Q0E SITOD0, 237 §EFANHFIS DATTTHEO S0BAN €red JB (e Jor0IS0.
3. TTHBED ST SOOI T (DT DT SR 58 9 0355 S0,
4. 25 (550 8d0.

Options :

1.% A)2,B)1C)4,D)3

2.¥A)1,B)2,C)4,D)3

3.% A)1,B)2,0)3,D) 4

4.% A)4,B)2,C)1,D)3

Question Number : 71 Question Id : 630680805122 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
This question consist of two statements — Assertion (A) and Reason (R). Answer the question selecting the appropriate option given below:

Assertion: Economic sustainability primarily involves maximizing profits without considering social or environmental impacts.
Reason: Economic sustainability seeks to achieve a balance between economic growth, social equity.

Options :

1. # Both the assertion and reason are true, and the reason is a correct explanation of the assertion.
2.+ Both the assertion and reason are true, but the reason is NOT a correct explanation of the assertion.
3. % The assertion is true, but the reason is false.

4. % The reason is true, but the assertion is false.

Question Number : 71 Question Id : 630680805122 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

&3 (D817, DB)eh FELO (A) B0 B0 (R) 9= BOCK [EEISE) EOETON. BN B9 2BS DeS0DeH JODE DOTHEH (D¥)50
SIPTS0 9 508!

D)5 TE50: €308 DB S0 OTE (HTTOOMT 7238 BT HT°5B€ (2T HBHEIIES'E BOFE0T ererercdd 2OTIEO.

5°5600: &38% DB 50 €308 N8B, T8 De3eaieh §0 $3185 DB 55D APEOIETRE (HOHSB) DO,
Options :

1. % Q3% 850 QHBAW 52820 BOCET D230, DO 52890 A3 )ed PE50Z OB DIBEI.

2. ¢ Q)b E0 HOOIM 5°EI0 BOKT D23, S°Q 52390 DB aES0%0 DTS DadBed 5°¢.

3. % Q)b 850 D230, S°Q) 5°E0 ).

4. % 5238690 Q20, 5°Q I 850 ).



Question Number : 72 Question Id : 630680805123 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Match the Socioeconomic Challenge with its Corresponding SDG:

Socioeconomic Challenges:
A) Gender inequality

B) Youth unemployment
C) Inadequate healthcare
D) Food insecurity

Sustainable Development Goals:

1. Goal 2: Zero Hunger

2. Goal 3: Good Health and Well-being

3. Goal 5: Gender Equality

4. Goal 8: Decent Work and Economic Growth

Options :

1. % A)2,B)4,0)3,D) 1
2.% A)4,B)3,C)2,D) 1
3.9 A)3,B)4,0)2,D) 1
4. % A)1,B)4,0)2,D)3

Question Number : 72 Question Id : 630680805123 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
FS5re3E €308 e Q) D00 SDGS BSHBI0R:

FSrRE @08 Harev):
A) O0f @085

B) 030565 DB 50

0) HBE es8s HoBE.€
D) e35%8 @023(85¢d

v o

QT DHIE Fgen:

1. 850 2: 05 es8d

2. %50 3: DHOD eBHESO OGN (NN
3. 0850 5: O0H Db §0

4.8 50 8: N0V D LA 385 59D
Options :

1. % A)2,B)4,C)3,D) |

2.% A)4,B)3,0)2,D) 1
3.¥A)3,B)4,C)2,D) 1

4.% A)1,B)4,0)2,D)3

Question Number : 73 Question Id : 630680805124 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the correct statements related to agricultural practices and their environmental impact:
1. The use of synthetic fertilizers and pesticides can lead to soil and water pollution.

II. Sustainable farming methods prioritize soil health and biodiversity conservation.

III. Modern agriculture has no connection to the depletion of freshwater resources.

IV. The expansion of monoculture farming is beneficial for overall ecosystem stability.

Options :

1. % Mand IV
2. % Il and IV
3. % TandIII
4.9 Tand 11

Question Number : 73 Question Id : 630680805124 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

S5 0% DR eBEN HBAN a¢3 HT53BED (D27 AE HOOGODND AV (DELSD dothFod:

L 82983630 DE0sHE SO 8BNS FHE0 T HBAN D3 SeNLIIE T8 SNOA.

IL K0V S5 T0H D500 T 38550 0B BTN DOBF £950 (2 G3° S5 AT 0m.

TI1. €3¢0QE 55558 sHODDEI $35%0e> & 29550 D00 T.

IV. IS5 555000 T30EY DB INB0 DTS 95980 VB8 D23 IEB0MT E0ENOd.

Options :

1. % 11 08a5% IV
2. % I D8 IV
3. % 1805w I

4. ¢ 108050 11



Question Number : 74 Question Id : 630680805125 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Match the environmental function with its description:
a. Recreation and Aesthetics

b. Cultural Heritage

c. Medicinal Resources

d. Waste Decomposition

i. Breakdown of organic waste materials into simpler compounds.

ii. Source of traditional knowledge, practices, and beliefs tied to ecosystems.
iii. Use of natural spaces for leisure and enjoyment.

iv. Discovery and utilization of plants and animals for medicinal purposes.

Options :

1. ¥ a-ii, b-iii, c-iv, d-i
2.9 a-iii, b-ii, c-iv, d-i
3. % a-iii, b-ii, ¢, d-iv

4. % a-iii, b-iv, c-ii, d-i

Question Number : 74 Question Id : 630680805125 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

DT5e58ed DA (Environmental function) Q) DSBS 23¢55S508:

a. QS0 B8N FP0SB 0

b. PO B8 *Bdes 0

¢. TR Sd3Bven

d. S§T°© DB

1. DOIAAD 558 DT DEFTS JaDIF T 5309¢S0.

ii. 0SS 5530 ATO(HTOD L3I0, HPBEN SDOAHN F0I5E S0TeTe SNAIE ) .
iii. B0 HBAW e300 FH0 H5F23 |HDTFO EDTITROIBO

TAE DB 0 080 OGN 2308509 OIS0 OGN GOTN0TIE0.
Options :

1. % a-ii, b-iii, c-iv, d-i

2. ¢ a-iii, b-ii, c-iv, d-i

3. % a-iii, b-ii, c-i, d-iv

4. % a-iii, b-iv, c-ii, d-i

Question Number : 75 Question Id : 630680805126 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Match the correct pairs Andhra Pradesh Economy.

i. Andhra Pradesh economy | a. 11.61%
growth rate in 2015-16
i1. Andhra Pradesh per capita | b. 31.18 %
income growth rate in 2014-
2017.

i1i. Andhra Pradesh economy | ¢. 10.95%
growth rate in 2016-17.

Options :

1. # i-a, ii-b, iii-c
2. % i-b, ii-c, iii-a
3. ¥ i-c, ii-b, iii-a

4. % j-a, ii-c, iii-b

Question Number : 75 Question Id : 630680805126 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

DN 20 ogHAT g8 HIHRD BODOSE.
i. 2015-16€5° es0GDB% ugs a. 11.61%
E:)QQ Bexw

ii. 2014-2017¢° esos03% | b. 3118 %
S0 0D DR Ge.

ii. 2016-17¢5° (I TareTat] Ggé c. 10.95%
5:)‘;@ .

Options :
1. # i-a, ii-b, iii-c

2. % i-b, ii-c, iii-a



3.9 i, ii-b, iii-a

4. % j-a, ii-c, iii-b

Question Number : 76 Question Id : 630680805127 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

When was the Andhra Pradesh State Housing Corporation Limited (APSHCL) launched the YSR Jagananna Housing Scheme or AP Housing society scheme?
Options :

1. % June 3, 2020

2.9 June 3, 2021

3. % June 3,2022

4. % June 3,2023

Question Number : 76 Question Id : 630680805127 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

SOAIITT RE SFR0A ST HBAS OWTE (APSHCL) YSR 2385033 sF000 32,8 B AP 5708 F¢3 HH5), D) )cd
rS0D0D0E?

Options :

1% 23S 3,2020

2.9 237 3,2021

3% 27 3,2022

4. % 23S 3,2023

Question Number : 77 Question Id : 630680805128 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which e-governance initiative in Andhra Pradesh started in November, 2011 focuses on providing citizens with a single platform for various government
services and transactions?

Options :

1. ¥ Amma Vodi
2. % Rythu Bandhu
3. ¥ MeeSeva

4. ® Navaratnalu

Question Number : 77 Question Id : 630680805128 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

2011 3502056 e30(IHTTES’ DN (250655 ade SHBA eFPTTH §H0 TR 2,8 SOELD ©0A0IB0 Sga) APBOTONEL &
Q-H53BYR) SBSEN0 (PS50 0H0G0E?

Options :

1. % 953 2.8

2. % B 208N

3. ¢ 00

4. % 358z en

Question Number : 78 Question Id : 630680805129 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The "Janmabhoomi - Maa Vooru" program in Andhra Pradesh encourages citizen participation in local governance and development. When the third phase of it
was launched?

Options :

1. % January, 2016
2. % Qctober, 2016
3. ¥ January, 2018
4. % Qctober, 2018

Question Number : 78 Question Id : 630680805129 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

SO(BNTTS'D 23522570 - S5 &3 TS0 TS PO 0B8N ©IYAS” DB 2T §375 ), 1S5 I2PN0E. B 0TS
5% DY PB0DOTTK?

Options :

1. ¢ 233058, 2016

2. % @528,2016

3. % 230058, 2018

. % %25, 2018

~



Question Number : 79 Question Id : 630680805130 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The process of amending the Constitution of India is laid down in which part of the Constitution?
Options :

1. % Part IV

2. % Part IX

3. % Part XVIII

4. ¥ Part XX

Question Number : 79 Question Id : 630680805130 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

2SS ToeOmmR), DSB0TS (DEOH T°es0H0eT R & 2B D& SB0E?
Options :

1. % @0 IV

2. % 2300 IX

3. % 2rfo XVIII

4. ¢ 250 XX

Question Number : 80 Question Id : 630680805131 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which reform in India launched in 2014, focused on promoting financial inclusion by providing access to banking services to all households in the country?
Options :

1. % Goods and Services Tax (GST)

2. % Pradhan Mantri Jan Dhan Yojana (PMJDY)

3. % Make in India initiative

4. % Pradhan Mantri Fasal Bima Yojana (PMFBY)

Question Number : 80 Question Id : 630680805131 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

BESTF0S’ 201465 &) DX G TFOS'D @), Foen0ereR) 23750800 9 @0B0TIB0 e sT° e30E THEFD0HD (e JoPoTIBoD
B BODOE?

Options :

1. % 350 56 DY, (GST)

2.9 DTS 0o 238 O A3resd (PMIDY)

3. % 3085 98 20BA8r 5285800

4. % (DS 0 HIS DX BBores (PMFBY)

Question Number : 81 Question Id : 630680805132 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In which of the following years, the Andhra Pradesh Public Service Commission was established?
Options :

1. % 1969

2.9 1956

3. % 1966

4. % 1965

Question Number : 81 Question Id : 630680805132 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 2 D05 IB0E’, e0(IDTT DDE HELR EMAS FD0SDG0E?
Options :

1. % 1969

2.9 1956

3. % 1966

4. % 1965

Question Number : 82 Question Id : 630680805133 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Andhra Pradesh government's policy to handle the issue of water scarcity for irrigation and agriculture by installing borewells for individual or collective
farmers with 2.5 acres of land is known as?

Options :
1. # Jala Jyothi



2. % Jala Jwala
3. % Jala Kala
4. % Jala Amruth

Question Number : 82 Question Id : 630680805133 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

2.5 DET°® 25 &) 55855 B e0rerE BEIOH S BIS O DT®IED TANBO T° §T° DTS HBAKN 3§ AITIE D3 Sk
D058 HONYLBOT e0(HNTT D20 § DGR, DeIOEFE?

Options :

1% 230 8%

2. % RO PO

3.¢¥ s o

4. % 230 ©NHS

Question Number : 83 Question Id : 630680805134 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which program in Andhra Pradesh is a key promise among the 9 promises of the Navaratnalu designed for farmers welfare by providing financial assistance to
farmers and making farming a remunerative profession.

Options :

1. ¥ YSR Rythu Bharosa scheme
2. % NTR Housing Scheme

3. % Amma Vodi

4. % Dr. YSR Aarogyasri

Question Number : 83 Question Id : 630680805134 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

SO|BINTETS' BerOFH e30% HIFON0 0BT HBAN ST AT, eTZTONER S9BT BONB0 & 5T B> H0 .00 §0
EPSFOBODS SSEEY© 9 TS’ §eETD 5N B EN0 E?

Options :

1. ¥ 3035 Bedd S HE0

2. % QB HyrAoe9 DHE0

3. % @953 2.8

4. % o, IIVE 83

Question Number : 84 Question Id : 630680805135 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The " Jagananna Amma Vodi " scheme launched January 2020 in Andhra Pradesh is to encourage poor mothers to send their children to school and college by
depositing / into the bank account of the student's mother or recognised guardian.

Options :

1. ¥ Rs 10000
2. % Rs 25000
3. ¢ Rs 15000
4. % Rs 5000

Question Number : 84 Question Id : 630680805135 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

SOBIITETES’ 2385638 20208 (FPB0D0TIDAS "23H553), €965 2oE" HDEFO0 S HEVEN 5ad DLEID BT HOASN EF°FE
DOBIET (8557050 FEH0 D5 SO B 19805y FoBD HOSEH 23508 reeeS O 2350 TROH.

Options :

1. ¥ Rs 10000

2. % Rs 25000

3. % Rs 15000

4. % Rs 5000

Question Number : 85 Question Id : 630680805136 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Choose the correct pair/s.

1. "MeeSeva" in Telugu means — At your service.

II. EDS Department under MeeSeva — Prints MeeSeva Certificate.

III. EDUCATION Department under MeeSeva — Provides Migration Certificate (For Passed Candidates Only).

Options :

1. % Only I



2. % &I
3.V L N&IN
4. % Only III

Question Number : 85 Question Id : 630680805136 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

DB 2365/ DOTHTOR.

L 80’ "Ard" @0 - &b DS

I 505 803 EDS GarQ 06T - yadsd DGDTED sl dR0E.
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Options :

IR NS )

2. % [&II

3.9 L&

4. % 11 Sr(ehad

Question Number : 86 Question Id : 630680805137 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
This question consist of two statements — Assertion (A) and Reason (R). Answer the question selecting the appropriate option given below:

Assertion(A): The Bharatiya Nyaya Sanhita is a crucial legal framework in India.
Reason(R): It defines crimes and prescribes punishments for offenses against the state, public, and individuals.

Options :

1. ¢ Both Assertion (A) and Reason (R) are the true and Reason (R) is a correct explanation of Assertion (A).

2. % Both Assertion (A) and Reason (R) are the true but Reason (R) is not a correct explanation of Assertion (A).
3. % Assertion (A) is true and Reason (R) is false.

4. % Assertion (A) is false and Reason (R) is true.

Question Number : 86 Question Id : 630680805137 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

& (D817, D) FES0 (A) B0 TS0 (R) 9= BOCK [EEISE) EOETON. BN B9 2BS D30 Deh JODE JOTHEH (%50
SIPTS0 9 508!

D)5 TES0 (A): 2TSEB0H TF°EOD DOSFeh R rESTFOS” 28 EOETN VEIDEDON [BSBH(HIIE0).
SBOR): BE BT"O DIONOE BTN TR0, (BN sHAAN S5O D BOHNS FTOE E.OD TR0,
Options :

1. ¥ Q3)ed 850 (A) QDO S°BEI0 (R) BOCK® 0230 SNDBAW DB)ed 850 (A)8 52590 (R) OB DoISeD.

2. % D65 7850 (A) 0B 5730 (R) BOGT AB S 57 A )eh 7850 (A)8 560 (R) OB S DadSea 5°¢.

3. % Q3¢ 850 (A) Q230 QAW 5°BEI0 (R) €5)).

4. % Q365 E50 (A) €5)) DO 5°B0 (R) D230.

Question Number : 87 Question Id : 630680805138 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

How many days will it take for firms to receive pre-establishment and pre-operations approvals under Andhra Pradesh's single desk policy 2015-20?
Options :

1. % 15

2. %07

3. %30

4.9 21

Question Number : 87 Question Id : 630680805138 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

SO|BIITE DOAS TRy e 2015-20 (HSB0 HOPEEL s0ON-TI DB SNOGRY SBsEerare) SFrmren FoSEIE )
Fazren Heod?

Options :

1. %15

2. % 07

3.% 30

4.4 21

Question Number : 88 Question Id : 630680805139 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
When was the ‘BhuSeva’ launched as pilot programme by the Hon’ble Chief Minister, Govt. of Andhra Pradesh?



Options :

1. % 11th April, 2017
2. 11th April, 2018
3. % 11th April, 2019
4. % 11th April, 2020

Question Number : 88 Question Id : 630680805139 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

19525368 SO T3 ST° 8557 065°€9e3) IET 5755880300 €80(8Y (DTF T BN B SI0W 30083 ISY I (D S0D0TTE?
Options :

1. % 11 DS, 2017

2.9 11 QDS, 2018

3% 11 DS, 2019

4. % 11 D, 2020

Question Number : 89 Question Id : 630680805140 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The National Informatics Center - Andhra Pradesh State Center (NIC - APSC) offers MEDHAS as an all-inclusive solution for which of the following
universities?

Options :

1. # Andhra University

2. % Dravida University

3. ¢ Dr.NTR University of Health Sciences
4. ® Yogi Vemana University

Question Number : 89 Question Id : 630680805140 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

TASS 28)BE3E) OIS - 0[S (DTF RE DOEE (NIC - APSC) 808 2 DF ST SOSTerE MEDHAS DH8ar) S0 e00&Fob?
Options :

1. % 05 0583

2. % A D FAT§OOD0

3. ¥ . 0rdN8¢8 6D S DIV

4. % 3R T D L5 AN0

Question Number : 90 Question Id : 630680805141 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Polavaram Dam project is spanned over which river of Andhra Pradesh?
Options :

1. # Pennar

2. % Tungabhadra

3. ¥ Krishna

4. ¥ Godavari

Question Number : 90 Question Id : 630680805141 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

FOSB0 355 |FEL S0|BDTTESR & S Eercdy?
Options :

1. % 2037

2. % B0KSES

3%

4. ¢ B0

Question Number : 91 Question Id : 630680805142 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As per the Andhra Pradesh Reorganisation Act, 2014 the common Governor of Andhra Pradesh and Telangana shall be assisted by how many advisors to be
appointed by the Central Government in the initial phase?

Options :
1.+ Two
2. % Three
3. # Five
4. % Four



Question Number : 91 Question Id : 630680805142 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

SO(BIDTT SIS $55EBED IO, 2014 HSB0 E0(INTT OO BOOMTED s 15658 BE (PS025 336 FoLeS (52065 50 DO
08 ST T HON AAHOTTE?

Options :

1. ¥ Q%

2. % 30

3. % 0

4. % P

Question Number : 92 Question Id : 630680805143 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

When was The Andhra Pradesh government had started the Clean Andhra Pradesh (CLAP)-Jagananna Swachha Sankalpam programme to clean up rural areas?
Options :

1. % October 2, 2020

2. October 2, 2021

3. % October 2, 2022

4. % QOctober 2, 2023

Question Number : 92 Question Id : 630680805143 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

[Pa0Ed (P0EPedd) D250 TROCNE e30(INTT (2929065 50 D 579, €80[(NTT (CLAP)-23H8IS), 0559 D0E YO 528585, ) )C
(B0 0DN0E?

Options :

1. % %25 2,2020

2. 0525 2,2021

3. % 8262, 2022

4. % 526 2,2023

Question Number : 93 Question Id : 630680805144 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
This question consist of two statements — Assertion (A) and Reason (R). Answer the question selecting the appropriate option given below:

Assertion (A): State Government of Andhra Pradesh have decided to issue the Right of Children to Free and Compulsory Education Rules in 2010.
Reason (R): These above rules were issued under the provisions of the Right of Children to Free and Compulsory Education Act, 2009 of the Parliament of India.

Options :

1. % Both Assertion (A) and Reason (R) are the true and Reason (R) is a correct explanation of Assertion (A).

2. % Both Assertion (A) and Reason (R) are the true but Reason (R) is not a correct explanation of Assertion (A).
3. ¥ Assertion (A) is true and Reason (R) is false.

4. % Assertion (A) is false and Reason (R) is true.

Question Number : 93 Question Id : 630680805144 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

& D817, DB)eh FELO (A) SDBON B0 (R) 9= BOCK [EEISEN EOLTON. BN B9 520BS D0 DeH JODE DOTHH 9¥)50
DAPd0 RS 50685:
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Options :

1. ¥ Q)65 32850 (A) OO S°BI0 (R) DO Q23R 08O S°EE0 (R) @R AP 37850 (A)8 DB Dedea.

2. % )65 *ES0 (A) 0B8N 5230 (R) BOGT DB 5°Q 52390 (R) 9 )b 550 (A)8 DB DedBed 5°6%0.

3. % Q)65 3°E50(A) O D230 OO S°B0 (R) OTE 5.

4. % Q)b *E50(A) ©OIE ) HDOASW °B10 (R) ©IE 230.

Question Number : 94 Question Id : 630680805145 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

This question consist of two statements — Assertion (A) and Reason (R). Answer the question selecting the appropriate option given below:

Assertion (A): By the end of November, 2021 garbage collection directly from rural households of Andhra Pradesh was at 22 per cent but by the end of January,
2022 it had reached 61.50 per cent.

Reason (R): The Clean Andhra Pradesh (CLAP)-Jagananna Swachha Sankalpam programme to clean up rural areas was launched in October, 2020.

Options :

1. % Both Assertion (A) and Reason (R) are the true and Reason (R) is a correct explanation of Assertion (A).



2. % Both Assertion (A) and Reason (R) are the true but Reason (R) is not a correct explanation of Assertion (A).
3. ¢ Assertion (A) is true and Reason (R) is false.
4. % Assertion (A) is false and Reason (R) is true.

Question Number : 94 Question Id : 630680805145 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

& (0%, DR)eh 3850 (A) B0 B0 (R) 9 BOCK [SIEEISEN EOLTON. BN B9 2B D0 JONE JOTHH (%50
NITEE0 S S0&:

DR FESO(A): 550205, 2021 DO °¢38 e30(IDTITS TN FOEN02TE HOG VT TS DEGE 22 TS50 SO, O 2022
23838 DHB °¢38 @& 61.50 T8 TLR0A.

SPGB0 (R): DOH(ES e0(DTT (CLAP)-IPEDED (20T D50 TODEE 2305e5),89) D589 D080 53580 05208, 20206
rS0D0NDG0A.

Options :

1. % Q)65 37850 (A) OO S°BI0 (R) DO Q23R 08O 52890 (R) @ AP 37850 (A)8 DB Dedea.

2. % Q)b EL0 (A) SNOASN 5°BE0 (R) BOKT BN 5°Q) 5°G0 (R) @9 A2 550 (A)8 DTS DG 5°¢0.

3. ¢ Q)65 3°E50(A) T D230 OO 5°B0 (R) ©OTE 5.

4. % Db *E50(A) OIE ) DO °B10 (R) ©IE D230.

Question Number : 95 Question Id : 630680805146 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which one of the following statement/s is/are correct?
I. The YSR Jagananna Badugu Vikasam scheme of Andhra Pradesh Government was launched to encourage OBCs in the state.
II. This scheme was launched on 26 October 2022.

Options :

1. % Neither I nor 11
2. % BothI & 11

3. % Only II

4. % Only

Question Number : 95 Question Id : 630680805146 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. Y150 S 11 5°Q A 5°¢%

2. % 1& 11 B0

3.8 11 r(ehad

4. % 1 3¢5

Question Number : 96 Question Id : 630680805147 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is the largest Solar Park of India as on 2023?
Options :

1. # Pavagada Solar Park

2. ¢ Bhadla Solar Park

3. % Ananthapuram Ultra Mega Solar Park

4. % Kurnool Ultra Mega Solar Park

Question Number : 96 Question Id : 630680805147 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 ¢3¢ 2023 T°¢38 2 B3HTF0S @B Ferd FBy DE?
Options :

1. % rS05¢s e 0y

2. ¥ 30 D Dy

3. % 9508580 (& o D 0y

4. % EEr) e @ e Ferd by

Question Number : 97 Question Id : 630680805148 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
As per Central Organization for Railway Electrification, India, till 1 March 2024, how much of total broad-gauge railway network has electrified?
Options :



1. % 94%
2. % 75%
3. % 65%
4. % 84%

Question Number : 97 Question Id : 630680805148 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

0S SFFTEAS HE BB VOEDBAS, ROGSST (D550, S8 1, 2024 SB80, J0B0 (23°&-T1eS TS T35y Doeh
D0HBEBOIDR0E?

Options :

1. % 94%

2. % 75%

3. % 65%

4. % 84%

Question Number : 98 Question Id : 630680805151 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

From which of the following countries, the Ambassador of India to that country has requested the export of railway wagons from India in 2021?
Options :

1. ¥ UAE

2. ¥ Brazil

3. # Sri Lanka

4. % Colombia

Question Number : 98 Question Id : 630680805151 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. % Qrd s

2.9 BRS

3. % (3 008

4. % S0P

Question Number : 99 Question Id : 630680805152 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which one of the following cities is not included in the list of mission cities from state of Rajasthan under AMRUT till March, 2024?
Options :

1. # Jaipur

2. % Alwar

3. ® Tonk

4. ¥ Dausa

Question Number : 99 Question Id : 630680805152 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

S8, 2024 S8 @39S (AMRUT) 27)esS’ 0°23arS TR0 0& DAS SHore 2DeeeS’ 808 SHT°S DB TS )ercheScsn?
Options :

1. % 35°0

2. % e99°55

3. % ¢5°0§

4. T

Question Number : 100 Question Id : 630680805153 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The government of India set up the Central Pollution Control Board (CPCB) in
Options :

1. % 1970

2.9 1974

3. % 1980

4. % 1984



Question Number : 100 Question Id : 630680805153 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

2B 102585 50 To(S e s AOHOISE S (CPCBIY & om0 B0
Options :

1. ¥ 1970

2.9 1974

3. % 1980

4. % 1984

Question Number : 101 Question Id : 630680805154 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In this question, a statement is given followed by two conclusions. Choose the correct response from the given four options:
Statement:

In India Thermal power plants emit large quantities of carbon dioxide which is a green house gas.

Conclusion:

i) They can lead to the climate change.

ii) Wind power generation can be a good and safe alternate for this.

Options :

1. % Only conclusion (i) is correct.

2. % Only conclusion (ii) is correct.

3. % Both conclusion (i) and (ii) are correct.

4. % None of the conclusions are correct.

Question Number : 101 Question Id : 630680805154 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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1. % 07850 (i) S5 DBIB.

2. % S030 (i) ST DBIE.

3. ¥ o (i) OO (i) BOGT HBSD.

4. % o D OBS 5°Y).

Question Number : 102 Question Id : 630680805155 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In this question, a statement is given followed by two conclusions. Choose the correct response from the given four options:

Statement:

The Insolvency and Bankruptcy Code, 2015 was introduced in Lok Sabha in December 2015.

Conclusion:

i) The Government decided to replace the existing insolvency laws with new stringent laws which would take care of the existing defaulters in a time bound
manner.

ii) This code seeks to address the issues faced currently in the context of insolvency and winding up.

Options :

1. # Only conclusion (i) is correct.

2. % Only conclusion (ii) is correct.

3. # Both conclusion (i) and (ii) are correct.

4. None of the conclusions are correct.

Question Number : 102 Question Id : 630680805155 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
&3 (096, 28 1DES TR ST 5¢b BOCL STIEN R SIF°OW. 9GS TN DODES DOG DB (B I0S DOTHEOS:
(DES:
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SONBMBES BEFHZ0EN0E.
ii). 8 QANSTID N0 BT DAON TS eH DB DENEL0ENSY, DDV DBALBOIETRE (HONBY N0,
Options :
1. % S0780 (i) S5 OBIE.
2. % S0T750 (ii) S(e55 OBIA.
3. % Qoo (i) OO (i) BOT HBSD.



4. ¥ ST D OB 5°).

Question Number : 103 Question Id : 630680805156 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which was the primary sector contributing maximum to India's GDP at the time of Independence?
Options :

1. # Manufacturing

2. ¥ Agriculture

3. # Services

4. ¥ Mining

Question Number : 103 Question Id : 630680805156 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

A SB0BBF0 DI I 237538 GDPE $OQOM S80S (7PN B0K0 DE?
Options :

1. % $05r0

2. ¥ 555 rON0

3. % aden

4. % 50 #5580

Question Number : 104 Question Id : 630680805157 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following statements best describes the significance of The Industrial Policy Resolution, 1948 (IPR, 1948)?
Options :

1. % The IPR, 1948, established a framework for the complete nationalization of key industries in India.

2. % The IPR, 1948, marked the beginning of economic liberalization in India, promoting free-market principles.

3. % The IPR, 1948, outlined the roles of both the public and private sectors in India's economy, defining their respective spheres.
4. % The IPR, 1948, advocated for the exclusive dominance of private enterprises in all sectors of the Indian economy.

Question Number : 104 Question Id : 630680805157 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. % PR, 1948, 273330 88 DHOF0® 5378 23005850 §0 208 [DRISE(DITIEI0)D DT°YEN TOE.

2. % IPR, 1948, R §T°)-3°87 €5 (@0 (86 )2 e TF0S” @308 H3DES% 7r0d HO80H.

3.+ IPR, 1948, 0208 S0P QS LA 23°3e5T33 €30F 559D (5525065 § DTN [ DISET SO (€562 DSBOD0E.
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Question Number : 105 Question Id : 630680805158 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In which year the first industrial or economic Policy of the independent India was declared?
Options :

1. % 1954

2. % 1956

3.9 1948

4. % 1965

Question Number : 105 Question Id : 630680805158 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. % 1954

2. % 1956

3.9 1948

4. % 1965

Question Number : 106 Question Id : 630680805159 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In which year the Fourth Five Year Plan was finally launched in India?



Options :
1. # 1965
2. % 1966
3.9 1969
4. % 1973

Question Number : 106 Question Id : 630680805159 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

PESTFOS °€265 HOTINS (HETDE 90BNOM &) H0SH IS0’ (FE0DOTIDB0E?
Options :

1. % 1965

2. % 1966

3.9 1969

4. % 1973

Question Number : 107 Question Id : 630680805161 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

How much the Industry sector contributed in GDP of India during 1950-51.
Options :

1.v 13%

2. % 59%

3. % 28%

4. % 40%

Question Number : 107 Question Id : 630680805161 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

1950-51 3085 S0’ 23S 5TSF GDPES’ HOFN S0H0 DO DTFTTR)), @OSODOL.
Options :

1. ¥ 13%

2. % 59%

3. % 28%

4. % 40%

Question Number : 108 Question Id : 630680805162 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Arrange the below events in a Chronological Order regarding the Green Revolution in India.
1. The first green revolution period ended.

II. Intensive Agriculture District Programme (IADP) in 114 selected districts.

III. M S Swaminathan Research Foundation (MSSRF) established.

Options :

1% LI 1
2. 1L L1
3. % QL LI
4. % IL1IL 1

Question Number : 108 Question Id : 630680805162 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. % 1,11 111

2. 0L 1L 1T

3.% 1L LI

4. % IL 11,1

Question Number : 109 Question Id : 630680805163 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following institution implements the monetary policy in India?
Options :

1. # Bank of Baroda



2. % ICICI Bank
3. % Canara Bank
4. ¥ RBI

Question Number : 109 Question Id : 630680805163 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 e3¢5’ & DO rESTIOS” (955 DT ), ©eEN TRHOE?
Options :

1. % 23508 esD 28

2. % ICICI 23§08

3. % 2000 2§08

4.+ RBI

Question Number : 110 Question Id : 630680805164 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Union Budget 2023-24 was presented by whom in the parliament?
Options :

1. % Nirmala Sitharaman

2. # Raj Nath Singh

3. # Amit shah

4. % Jai Shankar

Question Number : 110 Question Id : 630680805164 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

2023-24 05 TE S FPTR0ENE’ DB DB YOTTE?
Options :

1. ¢ Q&1 DTS

2. % oS H doh

3. % S

4. % 300 4085

Question Number : 111 Question Id : 630680805165 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The Revenue deficit is calculated by subtracting the total from the Revenue expenditure.
Options :

1. # Borrowings and other liabilities

2. # Non-debt Receipts

3. # Capital Receipts

4. % Revenue receipts

Question Number : 111 Question Id : 630680805165 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

DI S 9T TISTS H5OHO oS TNB0 BVFONBO T ST BEY0THDBH0E.
Options :

1. ¥ Sere) QO Y 2 §eden

2. % $HEFSE SIrH

3. % B0rer05ed S0

4. ¥ BBI>s S0

Question Number : 112 Question Id : 630680805166 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In this question, a statement is given followed by two conclusions. Choose the correct response from the given four options:
Statement:

Marginal propensity to consume (MPC): it is the change in consumption per unit change in income.

Conclusion:

i) In that sense, it is also known as Marginal propensity to save.

ii) it is the consumption per unit of income.

Options :

1. % Only conclusion (i) is correct.

2. % Only conclusion (ii) is correct.

3. * Both conclusion (i) and (ii) are correct.
4. ¥ None of the conclusions are correct.



Question Number : 112 Question Id : 630680805166 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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1. % S0780 (i) S7(e530 DBIE.

2. % S0S0 (i) S50 DBIE.
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Question Number : 113 Question Id : 630680805167 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

As on March 2022, for registration as an Non-banking financial company —Micro Finance Institution (NBFC-MFI), the minimum net owned fund required is
Options :

1. #¥ 32 crore

2. % 35 crore

3. % 4 crore

4. ¥ %10 crore

Question Number : 113 Question Id : 630680805167 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. % 22 8%

2. % 35 8%

3. % 34 8%

4. 210 §%¢

Question Number : 114 Question Id : 630680805168 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

When was the new series of National Accounts Statistics (NAS) has been introduced replacing the previous series of 2004-05.
Options :

1. # 2010-11

2. % 2012-13

3.9 2011-12

4. % 2009-10

Question Number : 114 Question Id : 630680805168 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

2004-05 2320093 DED TS0 BASS 0F°06T ) al¢3NE ) (NAS) TZwE), §¢5 BV DY) (DS DLDE0E.
Options :

1. ¥ 2010-11

2. % 2012-13

3.9°2011-12

4. % 2009-10

Question Number : 115 Question Id : 630680805170 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In this question, a statement is given followed by two conclusions. Choose the correct response from the given four options:

Statement:

Reserve Bank of India (RBI) is Central bank of India responsible for monetary policy and regulation of the banking sector.

Conclusion:

i) In that sense, it is Largest public sector bank in India, offering a wide range of financial services.

ii) it Formulates, implements and monitors the monetary policy.

Options :

1. # Only conclusion (i) is correct.



2. % Only conclusion (ii) is correct.
3. % Both conclusion (i) and (ii) are correct.

4. % None of the conclusions are correct.

Question Number : 115 Question Id : 630680805170 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 116 Question Id : 630680805171 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is an example of a natural disaster that can be mitigated through early warning systems?
Options :

1. # Financial crises

2. % Road accidents

3. * Internet outages

4. ¥ Floods

Question Number : 116 Question Id : 630680805171 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. % e30% Hofaren

2. % 8D (DSreren

3. % Q080)E ©0sTosren

4.9 S8en

Question Number : 117 Question Id : 630680805172 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

What is the " Incident Command System or ICS" in disaster management?

Options :

1. ¢ Refers to a management system to be used for incidents of various kinds and sizes such as earthquakes, flood, cyclone, landslides etc.
2. % A series of interconnected metal chains used for rescue operations

3. # A communication network for disaster survivors

4. % A tool for breaking through debris in search and rescue efforts

Question Number : 117 Question Id : 630680805172 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. ¢ 25800, SN, e, §0SIBaHeN DBANEEI0 S0eE3 DA 570> HBAN DBIFETE HONEIS §00 &HrA0D
QB 85769 590 A0,

2. % 3800 seds8erare 00 GOTBrROT R0DETIH eSO TS (33

3. % DD 0B 2ANLNBIE §00 EsABAS TSy,

4. % 5058 208050 SF.69 (DOHE) S’ BT TBEOT 28 S0

Question Number : 118 Question Id : 630680805175 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Which of the following is an example of a structural mitigation strategy for earthquake prevention?
Options :

1. # Conducting search and rescue operations

2. ¥ Developing early warning systems



3. ¢ Creating building codes and standards

4. % Providing emergency medical care

Question Number : 118 Question Id : 630680805175 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 ¢3S’ rE0D DarSeadd DT 1T 28 €T Jeor*I8 ST Eed E?
Options :

1. % 55 08050 8.6 S8 sEerareddd B P00

2. % 00BN 37308 550D ©8)SHE TANEO

3. ¢ DO &N 0OAN (DT Brerod0IS0

4. % 96555008 S5 088 €9 @000

Question Number : 119 Question Id : 630680805176 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

During a disaster, GIS enables emergency response teams to quickly gather and analyze real-time data from various sources. Which one of the following is NOT
a source of that kind?

Options :

1. ¥ Satellite imagery
2. % Weather data

3. ¥ Sensor networks
4. ¥ News channels

Question Number : 119 Question Id : 630680805176 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. ¥ &I Dgen

2. % OG0 DTN

3. % )0 [0 en

4.9 3750 IO

Question Number : 120 Question Id : 630680805177 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Where the headquarters of National Atlas and Thematic Mapping Organisation (NATMO) of India?
Options :

1. ¥ Kolkata

2. % New Delhi

3. % Hyderabad

4. % Guwahati

Question Number : 120 Question Id : 630680805177 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. ¢ Sy

2.% Srg a0

3. % Jpddorer®

4. % HTS

Question Number : 121 Question Id : 630680804475 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at variance with
commonly known facts, decide which of the given conclusions logically follow(s) from the statements.

Statements:

A. Some stools are chairs.

B. Some chairs are irons.

Conclusions:

1. No stools are irons.

II. Some irons are chairs.

Options :
1. # Only conclusions I and II follow
2. % Only conclusion I follows



3. % Only conclusion II follows

4. % Either conclusions I or 1T follow

Question Number : 121 Question Id : 630680804475 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 122 Question Id : 630680804476 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Three statements are given, followed by three conclusions numbered I, II and III. Assuming the statements to be true, even if they seem to be at variance from
commonly known facts, decide which of the conclusions logically follow(s) from the given statements.

Statements:

A. All goats are lions.

B. Some elephants are lions.

C. No lions are tigers.

Conclusions:

1. Some goats are elephants.

II. No goats are tigers.

III. All goats are elephants.

Options :

1. # Only conclusion I follows

2. # Only conclusions I and I1I follow

3. ¥ All the conclusions I, II and I1I follow

4. % Only conclusion II follows

Question Number : 122 Question Id : 630680804476 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Question Number : 123 Question Id : 630680804477 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Three statements are given, followed by three conclusions numbered I, II and III. Assuming the statements to be true, even if they seem to be at variance from
commonly known facts, decide which of the conclusions logically follow(s) from the given statements.

Statements:

A. Some papers are trees.

B. All trees are birds.

C. All birds are tigers.

Conclusions:

1. All papers are birds.

II. All papers are tigers.

I11. All trees are tigers. .

Options :



1. % Only conclusions I and II follow
2. % Only conclusions III follows
3. % All the conclusions I, IT and III follow

4. % Either conclusion I or IIT and IT follow

Question Number : 123 Question Id : 630680804477 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 124 Question Id : 630680804478 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
If

P+ Q means P is the father of Q

P x Q means Q is the mother of P

P * Q means P is the wife of Q

P - Q means P is the sister of Q

P+ Q means Q is the daughter of P
Then,

How is ‘C’ related to ‘F’ in A*B+C + DXE - E,?
Options :

1. % Son

2. % Husband

3. % Father

4. ' Brother-in-Law

Question Number : 124 Question Id : 630680804478 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. % 30530

2. % %6

3. % $o|B

4. ¢ 2850-98-e»

Question Number : 125 Question Id : 630680804479 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Select the option that will replace the question mark (?) in the following series.

AVC, DQV, GLO, JGH, ?
Options :

1. ¥ MBB

2. ¥ MBA

3. % MCA

4. % NBA



Question Number : 125 Question Id : 630680804479 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

18oB B3S° 159 HB ()0 238 TR 0D, JothHEod.
AVC, DQV, GLO, JGH, ?

Options :

1. ¥ MBB

2. ¥ MBA

3. % MCA

4. % NBA

Question Number : 126 Question Id : 630680804480 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
In a certain code language, ‘WEST” is coded as ‘UTFX’, ‘JUNE’ is coded as ‘FOVK’. Which of the following option will be true for the given?

[LpLAY X_ EOBI
2. MOON Y. ZBMQ
3. HAND Z OPPN

Options :

1. 1-Y, 2-Z and 3-X
2. % 1-Y,2-X and 3-Z
3. % 1-X,2-Z and 3-Y
4. % 1-7,2-Y and 3-X

Question Number : 126 Question Id : 630680804480 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
28 QO §& 2370, ‘WEST’Q “UTFX’TP, ‘JTUNE’Q ‘FOVK TP & T . 808 D0oEES @5 538 OBSE dE?

[LpLAY X_ EOBI
2. MOON Y. ZBMQ
3. HAND Z OPPN

Options :

1. ¥ 1-Y, 2-Z 0833 3-X
2. % 1-Y, 2-X 0005w 3-Z
3. % 1-X, 2-Z 85w 3-Y
4. % 1-7,2-Y S8R 3-X

Question Number : 127 Question Id : 630680804481 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

In a certain code language:

* Rule 1: Each Consonant is shifted 3 positions forward in the alphabet. ( B becomes E, C becomes F etc.)
* Rule 2: Vowels (A, E, 1, O, U) are replaced with a number code: A=1, E=2, [=3, O=4, U=5.

* Rule 3: The order of letters is reversed.

How would the word "AUGUST" be coded?

Options :

1. % WV3J5D
2. % WVsJXI1
3. % WVXIs51
4. ¥ WV5J51

Question Number : 127 Question Id : 630680804481 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. ¥ WV5J5D

2. % WV5IX1

3. % WVXJs1

4. ¢ WV5J51

Question Number : 128 Question Id : 630680804482 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33



Match the letter cluster which is related in the same way as the first letter cluster is related to the second letter cluster and third letter cluster is related to fourth
letter cluster.
EGH :JLM :: RTV : WYA

1. MET X XFI

2. SAD Y. ZXJ

3. USE Z. RIY
Options :

1. % 1-Y,2-X and 3-Z
2. % 1-X,2-Z and 3-Y
3.9 1-Z,2-X and 3-Y
4. % 1-7Z,2-Y and 3-X

Question Number : 128 Question Id : 630680804482 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

[0ES @98 8 DRI, BOChad @988 DTET0 D0D0EOD DGO $DBA5N 307786 €98 8 DI, 77 €08 & D0
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EGH :JLM :: RTV : WYA

1. MET X XFI

2. SAD Y. 7ZXJ

3. USE Z. RIY
Options :

1. % 1-Y, 2-X 0835w 3-Z
2. % 1-X,2-Z 085w 3-Y
3.9 1-Z,2-X 0805w 3-Y
4. % 1-7,2-Y Q0835w 3-X

Question Number : 129 Question Id : 630680804483 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Four letter-clusters pairs have been given, out of which three are alike in some manner and one is different. Select the letter-cluster pair that is different.
Options :

1. # BEAUTY : HKGAZE

2. % BATTLE : HGZZRK

3. ¥ BEFORE : HKLUXK

4. % BEHALF : HKMHRL

Question Number : 129 Question Id : 630680804483 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

TN €F B-D0T5 236500 RSV, 3 S0 DE 28 DPBS’ 2,86 GO, 2.8¢3 DY O GOENOE. ) S g 8-
DTS 23650 DOHEOA,

Options :

1. % BEAUTY : HKGAZE

2. % BATTLE : HGZZRK

3. ¥ BEFORE : HKLUXK

4.+ BEHALF : HKMHRL

Question Number : 130 Question Id : 630680804484 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Nine friends Amit, Mayank, Janardan, Dev, John, Farhan, Gagan, Hardeep, and Imad are watching an IPL match sitting in a row facing North.
* Mayank is sitting at one end of the row.

* Only Hardeep is sitting between Farhan and Gagan.

* Dev is sitting to the immediate left of Janardan.

« Janardan is sitting at the third place to the right of John.

« Farhan is sitting immediate right of Amit.

» Mayank is sitting at the third place to the right of Farhan.

Who among the following is sitting immediately right of John in the row?

Options :

1. % Imad

2. % Dev

3. % Mayank

4. % Amit

Question Number : 130 Question Id : 630680804484 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. ¥ 2558

2.% 3

3. % Hosros

4. % DS

Question Number : 131 Question Id : 630680804485 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Seven doctors- Sachin, Hina, Neha, Anas, Luke, Devika and Kanika have to visit OPD in hospital on different days of the week starting from Sunday, but not
necessarily in the same order.

* Anas visits immediately before Devika.

* Only two doctors are visiting between Anas and Hina.

« Kanika visits before Neha.

* Neha does not visit before Sachin.

* Hina visits on Friday.

« Kanika visits immediately before Anas.

« Exactly one person visit between Luke and Neha.

‘Who among the following doctor visits OPD on Sunday?

Options :
1. % Anas
2. % Devika
3. % Luke
4. % Sachin

Question Number : 131 Question Id : 630680804485 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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2. % DY

3. % arss

4.9 3D

Question Number : 132 Question Id : 630680804486 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Two statements labelled as Assertion (A) and Reason (R) are given. Consider both the statements carefully and select your answer on the basis of the given
options.

Assertion (A): Contemporary Indian literature reflects the complexities of societal shifts and cultural dynamics in the India.

Reason (R): Through themes of identity, gender, and social critique, Indian authors engage with the evolving fabric of Indian society, blending tradition with
modernity in their literary expressions.

Options :

1.+ Both A and R are true and R is the correct explanation of A.

2. % Both A and R are true but R is not the correct explanation of A.
3. % Ais false and R is true.

4. % Alis true and R is false.

Question Number : 132 Question Id : 630680804486 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :
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Question Number : 133 Question Id : 630680804488 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that will replace the question mark (?) in the following series.
432,415, 381, 330, ?

Options :

1. % 245

2. % 284

3. % 320

4.9 262

Question Number : 133 Question Id : 630680804488 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

808 BBS 105 H (N 258 TR D0DED JOHEFOE.
432,415, 381, 330, ?

Options :

1. % 245

2. % 284

3. % 320

4.9 262

Question Number : 134 Question Id : 630680804487 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Select the option that will replace the question mark (?) in the following series.
177,302, 366, 393, ?

Options :

1. % 401

2. % 394

3. % 406

4. % 425

Question Number : 134 Question Id : 630680804487 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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177,302, 366, 393, ?

Options :

1. % 401

2. % 394

3. % 406

4. % 425

Question Number : 135 Question Id : 630680804489 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Four number pairs are given. The number on left side of (-) is related to the number on the right side of (—) with some Logic/Rule/Relation. Three are similar on
basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. % 172272
2. % 19-342
3. % 23-506
4.9 29-816

Question Number : 135 Question Id : 630680804489 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33



e DOYPS 236562 R SDTFOW. (—) TIVEY DD B &) Do TS &520/QANXN0/I0D00E () S0 BN &) HoW§H
D020H0DIA. T 8).0/Q0NN0/N020G0ESETSEOMT S0 2,83¢T GOLTFON. YDA (DET5X07) AT HOG )0 &) A
DOHEOA.

Options :

1. % 17272
2. % 19-342
3. % 23-506
4.9 29-816

Question Number : 136 Question Id : 630680804205 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Study the following graphs and answer the question:
Exports of a country from 2019 to 2022 (in X billions)

350

300

300
270
250

250 230
200
150
100

50

0

2019 2020 2021 2022

Breakup of items exported (each year)

4k

The export of garments and cosmetics together in 2020 is what percent of the total exports of textiles and jewellery in the years 2019 and 2021 (correct to one
decimal place)?

Options :

1. % 50.5 %
2. % 51.4%
3.9523%
4. % 53209

Question Number : 136 Question Id : 630680804205 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :

1. % 50.5 %
2. % 51.4%
3.9 523%
4. % 532%

300
270 I

230
2020 2021 2022

Question Number : 137 Question Id : 630680804201 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Study the following pie-charts and answer the question:

Breakup of employees Breakup of femalesin
working in departments different departments
A,B,C,.DandEofa
company

Number of employees working in department C = 560
Number of female employees working in department A = 350

If one-fourth of females working in department E and 20 % of male employees working in department B got promotion, then the total number of females in E
and males in B, who got promotion in these two departments, is what percent of the total number of females working in departments C and D? (correct to one
decimal place)

Options :

1.%245%
2. % 2489
3.9202%
4. % 2949

Question Number : 137 Question Id : 630680804201 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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DermrS” HATBDG), FF DO’ DO THO? (28 3T°03 T DIBOH0R)

Options :

1. % 245%

2. % 24.8%

3.4202%

4. % 294 9%

Question Number : 138 Question Id : 630680804200 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Study the following information and answer the question:

In a warehouse of a company, there are four types of items, namely Mobile Phones, Televisions, Computers and Washing Machines. The total number of all the
items is 3600. Each of the items has two brands: A and B. One-third of the total number of items are Televisions. The ratio of the number of Computers to that of
Televisions is 3:4. 40 % of the total number of televisions and computers are Mobile Phones and 35 % of the total number of Washing Machines are of brand A.
Three-fifth of each of the total number of Mobile Phones as well as of the total number of Computers are of brand B. The number of Televisions of brand A is
300 less than that of Televisions of brand B.

Which of the following statements is (are) correct?

I: The ratio of the number of Washing Machines of brand B to the number of Mobile Phones of brand A is 112:143.
II: The number of Televisions of brand B is approximately 83 % of the total number of Computers.

III: The average of the number of Computers of brand A and the number of Mobile Phones of brand B is 432.

Options :

1. % Tand I
2.9 Il and 111
3. % Tand III

4. % T 11 and IIT

Question Number : 138 Question Id : 630680804200 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
808 JIFTTR), ©E5AHSE0 TANOE HBAW (D9 B0 ST I0 B3 S0B:

2.8 500 Frrssne SnBS 5D, BO2RY, E053°58 805 0R R R Treni 3570 50N 5. BB @) SWH
HOWS 3600. 963 SNHE0 BOCK (270CH) ) 00: A BN B. FNB0 5 0H© Do SAPG0E) 208 508 TOJ2SEN ) O.
BOBSO HOP K SO0 HOP LD KO DAY 3:4. IS0 TWOVBSEN HEAM 055 S0’ 40 % DNBS FSeN OO
BNS0 TN0R ASOS’ 35 % A ©F 12708 & TOAID. B0 DNBS S DoWIS e BNS0 Z05°5e5e Do Q0L
STC8) 306560 B &9 (270& 50 TOAID. A ©F (23706 330y BOD2Se oS B e9F (2708 G3ng) BOD2Se> 0T 300 $80).:.

808 & [(DEER(EN) STIA() 2

I: [2°0& B G308} 5700 1S © SO S08A5W [2370& A T3NEY INBS S © SO NS 112 :143.
II: 25°0&% B BBwE) BOIBA Do Bned0 07508 S0 seS” a5 83 %.

III: [2°0& A TBE) 053538 Do HOASW (23708 B G30E) INZBO e DOEE Oiew 432.

Options :

1. ¥ 106a5w I

2. ¢ 11 OB 11T

3. % T08asw I

4. % 1,11 0805w I

Question Number : 139 Question Id : 630680804203 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Study the following bar graph and answer the question:
Annual consumption of tea in a country across five years (2018 to 2022) (in lakh tonnes)
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The average annual consumption of tea during 2018 and 2021 is what percent less than the total annual consumption of tea during 2019 and 2022?
Options :

1. ¥ 56.25 %

2. % 56.65%

3.% 57.5%

4. % 58.5%

Question Number : 139 Question Id : 630680804203 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
808 2375 [T @E5OHI0 B (DF) B0 DXTErd0 YN J0&:
2.8 B30 96 0055 TS’ (2018 OG 2022 $58580) 0% ¢3 DATri0 (©F. rcdd) o)
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2018 D805 20216 S5 O ¢3 DITZF50 9TE 2019 B 202265 €3 TE), BNB0 F0E DITZFHOS’ DO TS50 5%0Y65?
Options :

1.9 56.25%

2. % 56.65%

3. % 5759%

4. % 5859

Question Number : 140 Question Id : 630680804204 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Study the following graph and answer the question:
Percent profit earned by companies A and B during 2020 to 2023

70
60 54
50 48
45 a2
RS 40
5 36 g GO Mp ANy A
30
32
g Company B
20
10
o
2020 2021 2022 2023
Profit = Income — Expenditure
Income — Expenditure
Profit %= = 100

Expenditure

The expenditure of company B in 2021 was % 430 crores and the income of company A in 2023 was X 680 crores. What is the difference (in < crores) between
the income of B in 2021 and the expenditure of company A in 2023?

Options :
1.% 785
2.¢80.5
3.% 85
4. % 82



Question Number : 140 Question Id : 630680804204 Option Shuffling : Yes Is Question Mandatory

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

206 (rayed enddadio T %150 Sdrerdo @ jo0dk:
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: No Calculator : None Response Time : N.A Think

202165 €028 B Shn¥) pdos T 430 Few 080k 202385° 50D A T, emrabo T 680 Béw. 202167 B esmrcird8 dobotn 20238° S0 A szals

Srerrdo X Fadhaos?

Options :
1. % 785
2.980.5
3. % 85
4. % 82

Question Number : 141 Question Id : 630680804202 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

The following chart provides the information about the number of assembly seats won by political parties X, Y and Z in two different assemblies A and B in
2020. The number of seats in A is 280 and that in B is 400. Each point (A, B) represents three different values — one in each direction. A and B are the mid-points

of the respective line segments. Study the chart and answer the question:

25%,
50% ——— 79% X
Y AN, i
—a—Yy ——  50%
75% PN
-- - — 25%

25% 50% 75%

Z

Which of the following statements is (are) correct?

I: Total number of seats won by party X in assembly A and by party Y in assembly B is 240.

II: Total number of seats won by party Z in assemblies A and B is 175.

III: The difference between the number of seats won by X in assembly B and Y in assembly A is 45.

Options :

1. % Tonly

2. % Tand 11
3. % Iland III
4.9 Tand 111

Question Number : 141 Question Id : 630680804202 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

180& T°%) 2020 &, A )80 B &9 Boh ST @00 X, Y 00w Z @0F oresdah r8en Rendrodd e5008) &) Homsdd
H0DBODS HXIFTTTRY, WOBN0A. A ST E) HOWS 280 SHOCN B S°Q DEY H0S 400. 2.5 DOCNS (A, B) 0T 38 50 enedededd
JQPDROE - (5 OFS 2,8€3. A HOAD B 9 D020 BLPPHOCHO TBNEY 055 DOCHEN. TR €9¢H50050 TR 19380

DAPO0 RS 506!
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I @508 ASS X 8 08050 @008 BES® Y rGexn Hentingod) Indo arare) S0 240.
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Options :

1% [ Sr(edad

2. % 1088w 1T

3. % 1108050 I

4. 10808 111

Question Number : 142 Question Id : 630680804206 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

Study the following bar graph and answer the question.

Annual production of wheat in states A and B during 2017 to 2021 (in million tonnes)
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The average annual production of wheat by state B during 2018 and 2021 is what percent more than the average annual production of wheat by state A during
2017, 2019 and 2020? (correct to one decimal place)

Options :

1% 11.8%
2.¥133%
3.% 125%
4.% 144 %

Question Number : 142 Question Id : 630680804206 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
808 2375 [T @E5ONI0 TR (DF50 SXTETEI0 95 50&.
2017 0 2021 SEB0 A B0 B OO Feds0e a3dE &ee )i (OOHS &) o)
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Options :

1% 11.8%



2.¥133%
3.% 125%
4.% 144 %

Question Number : 143 Question Id : 630680804208 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
Study the following table:

Revenue (R) and expenditure (E) of companies A and B during 2019 to 2022 (in ¥ crores)

.\;\\\\Company A B
Year

R E R E
2019 320 240 250 200
2020 350 225 340 280
2021 400 275 350 300
2022 450 300 420 340

Which of the following statements is (are) correct?
I. The total revenue of both companies in 2021 is X 70 crores less than the total expenditure of company B in 2019,
2020 and 2022.
Il. The revenue of company A increased by 33.75 % in 2022 as compared to that in 2019.
Ill. The difference between the revenue of company B in 2022 and the average expenditure of company A in 2020 and
2021 is % 170 crores.
Options :
1. # Tonly
2. % Iland III
3. % Tand 111
4. % 1,1 and I

Question Number : 143 Question Id : 630680804208 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
BoH HEED ead ;a0 Tohod:

2019 00d 2022 5850 A 0050 B 00D T, Tad (R) 08050 $5:090 (E) (X FLeS)
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\\
Year .
R E R E

2019 320 240 250 200
2020 350 225 340 280
2021 400 275 350 300
2022 450 300 420 340

e XD (Company - £0700), Year - 00:5¢8 150)
£06 a3 DO NDIOID?

1. 202165° Dok S0 Tnko orard @ 2019, 2020 SHBC5N 20228 0 B TanE) 3060 H:000 808 T 70
RAVE SNy N 0 - ToT )

II. ASODR ToE) Ttk 20196° FO 20226 33.75% OA0E.

1. 202265° 0 B Gingy, ora@E S0605n 2020 SH00in 20216 S0 A T0E), Hifen Heaire Scds o Sgeredo I
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Options :

1% 1 3¢5

2. % 11 838w 11T

3.9 1805w I

4. % 1,11 0805w T

Question Number : 144 Question Id : 630680804207 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33



The table below shows the production of wheat, rice, and millets from 2018 to 2022 (in lakh tonnes)

Year Wheat Rice Millets
2018 160 200 240
2019 260 240 180
2020 350 280 260
2021 380 290 210
2022 440 260 250

Based on the information given in the above table, match the items in column A and column B.

Column A Column B
(a ) In which year was the production of rice (e)2018
20 % less than the production of wheat?

( b) Inwhich year was the production of (f)2019
millets 25 % less than the production of rice?

( ¢) In which year was the production of (g)2022
millets 50 % more than the production of

wheat?

( d ) In which year was the average production |( h)2020
of wheat and rice 140 % the production of
millets?

Options :

s (@)= (), > (), @) = (g),(d) - (@)
) % (@)= (), — (), ()~ (&), ()~ (g)
s % (@)= (1), - (), ()~ (9),(d) ~ (©)

4 v (@ —= M), - (), () - (e),(d) - (9)

Question Number : 144 Question Id : 630680804207 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
DD HESE 2018 X008 2022 $8% (©F e od) Feden, HadEo HOCHN DHTEe dreh 1832 T o

Do %o | AEhden 58 DT 50
2018 160 200 240
2019 260 240 180
2020 350 280 260
2021 380 290 210
2022 440 260 250

2 HEES” @ g3 DSFTB0 eS0T, SBX A 8050 5&X BS'D @070 2608508,

SHWI A SWJB

(a) & DORBIB0S HO ered e Mo Gred @ 0t | (e)2018
20% 5800 50 d?

(b) S0 Srede8 ¥0F) 25% VDRI e el D (£)2019
0056818506 50y, ST S06?

() TR &b 0T 50% DT Gédied D | (g ) 2022
2058508 &0H?

(d) D H0SeIB0S Aitdrsd sHOGI S8 i (h)2020
&b e DOTRrie b el 140% S0d?

Options :
1 % (@)= (1), (b))~ (H.(c) = (9).(d) = (e)

5 % ()= (), (B) = (1), ()~ (), (d) > (5)
3 % (0= (9,() = (1), () = (9),(d) = (&)

4 v (@)= (R),(B) = ().(c) = (e).(d) = (g)



Question Number : 145 Question Id : 630680804213 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The following questions consists of two statements, namely. Assertion (A) and Reason (R). For
selecting the correct answer, use the following:

(a) Both A and R are true and R is a correct explanation of A.

(b) Both A and R are true but R is not a correct explanation of A.

(c) Ais true and R is false.

(d) A isfalse and R is true

Assertion (A) Reason (R)
The median of the distribution is 23.5 Median =14 3f i o]
Class 0-10 [ 10-20 [20-30 | 30-40 BEETSIT 7 ) SRRl

Frequency | 12 28 32 28 etc., have usual meaning.

Options :
1. % a
2.% b
3.% ¢
4.4°d

Question Number : 145 Question Id : 630680804213 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33
2o Q}i?;veﬁ“ DI g0 (A) 20Batw seomo (R) 95 Jocd DpEeden eotraw. 10 ATy
JocE HrDE, Sod TP endirfodod:
(a) A a08cin R Decr Aeo 0d0in R @28 AS 2020 Ddde.
(b) A 208050 R Tocsr D T2 R 0058 AS 035 o s
(c) A @& deo 00T R DS S5y,
(d) Aedd Sy wdain R 2036 Dazo.
D3 arsgo (A) st (R)
Derad) oluéb Soesieso: 23.5

o
f
DOOCHETHD ArePos &‘Jg“:)rl 480 Gotron.

mdsﬁ@o= I +(

) % h, @Q&a I, n
[lelstr) 0-10 | 10-20 | 20-30 | 30-40
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Options :
1. % a
2.%b
3. % ¢
4.9 d

Question Number : 146 Question Id : 630680804210 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The following questions consists of two statements, namely, Assertion (A) and Reason (R). For selecting the correct
answer, use the following:

(a) Both A and R are true and R is a correct explanation of A,

(b) Both Aand R are true but R is not a correct explanation of A.

(c) Aistrue and R is false.

(d) Ais false and R is true

Assertion (A) Reason (R)
The harmonic mean (HM) OF For observations xi,
10,20,40,80 and 100 is 25.3 HM =" i=12..
(approximate) I

B i

Options :
1.¥a
2. % b
3.% ¢
4. % d

Question Number : 146 Question Id : 630680804210 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.33

806 109106 AP 8 57550 (A) HBA5D 5800 (R) &9F o (DEES80 G0Eron. B DSFTaR) HoLESTE,
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Options :
1.9 a
. % b
.®

L% d

AW N

Question Number : 147 Question Id : 630680804211 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
The variance of 7xi-11, i=1, 2, ....., n, is 42, then what is the variance of 3xi’s?
Options :
18
L% 7

% 9

Question Number : 147 Question Id : 630680804211 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
7xi-11, i=1, 2, ....., n, D30EY DR (variance) 42, €Y )CR 3xi TINEY DQe3 (variance) DOEH?
Options :
18
L% 7

Question Number : 148 Question Id : 630680804212 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
What is the value of k, if the mean of the distribution below is 167

Class 11-13 [ 13-15 15-17 17-19 19-21
Frequency | 5 K 8 6 7
Options :
1. % 9
2. v 10

3. 0% 11



4 % 12

Question Number : 148 Question Id : 630680804212 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
AN Nera3d) GREy DIt 16 oo, k Densd Jodh?

SEED 11-13 1315 1547 | 17-19 19-21

Zrede 3 K 8 ] 7
)50

Options :
1.% 9

2 & 10
3% 11

4. % 12

Question Number : 149 Question Id : 630680804209 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

The following questions consists of two statements, namely, Assertion (A) and Reason (R). For selecting the correct
answer, use the following:

(a) Both A and R are true and R is a correct explanation of A.
(b) Both Aand R are true but R is not a correct explanation of A,
(c) Aistrue and R is false.

(d) Ais false and R is true
Assertion (A) Reason (R)
The standard deviation SD forx;,i=1, 2,....; . I8
(SD) of

7,6,10,11,13,9,14 is close . :
t02.7. givenby |3

%
n n

where ¥ is the mean.

Options :
1. % a
2.% b
3.¥¢
4. % d

Question Number : 149 Question Id : 630680804209 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33
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Options :
1.% a
2. % p
3.¢ ¢
4. % d



Question Number : 150 Question Id : 630680804214 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.33

The number of members of groups A, B and C are 25, 35 and 20, respectively. All the members of the groups went to a restaurant. The average amount spent on
each member of the groups A, B and C are X 80, X 72 and R 90, respectively. What is the average amount (in ) they spent per person?

Options :
1. % 78
2.¥°79
3. % 80
4. % g1

Question Number : 150 Question Id : 630680804214 Option Shuffling : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.33

A, B s08050 C DX0FFE D205 DO sSBIT 25, 35 S0O050 20 5. De0TT0STR D250 8, BIBOEE IFK. A, B OO C
DTSSR (D H20IDDY DA TR DN DBO SBIT T 80, T 72 0B T 90 E5. 0 2.8 5588 1) TIS Hifew o RS
D0ed?

Options :

1. %78

2.¥4°79

3. % 80

4. % 81



